Question Paper Title : TAIT_PAPER_31

Date of Exam : 2017-12-18 16:00:00

1 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Glamorous
B.Goverment
C.Gaurd

D.Gaarantei

Answer:  A.Glamorous

2 el =T I, FRIedT STdteg 8 ol RIMIAR SN IHT Ioldichg 17 oA RIFTER 3MTg. R I Tl el
fapeit 2

In a row of girls, Shilpa is 8th from the left and Reena is 17th from the right. How many girls are there in
the row?

2 LSS S Gae JUS | 55 17— o8lad sl 55 8 = oailes Wl (pae IS (S oS3

A.25
A.25
A.25

B.27
B.27
B.27

C.29
C.29
C.29

D.24
D.24
D.24

Answer: D.24
D.24
D.24


www.youtube.com/c/BADSHAHimp

3 {1,3,5,...47) YA P TBAT AGSa, (x — 2) (x - 7) (X - 5) (X - 47) = 0 § THIDHRUT P YUl HRUAT FHTHT

A number P is chosen from {1, 3, 5, ....47} the probability that P satisfies the equation (x — 2) (x - 7) (x -
5)(x-47)=0is

50 P {10 BeBe L AT} AS Sl ny o Bla LS iite e S slass (X — 2) (X - 7) (X - 5) (X - 47) = 0 S gsialas S
= e

A1/8
A1/8
A1/8

B.1/6
B.1/6
B.1/6

C.1/3
C.A1/3
C.1/3

D.1/5
D.1/5
D.1/5

Answer: A.1/8
A.1/8
A.1/8


www.youtube.com/c/BADSHAHimp

Answer:

AT GIetd Hlfgll dleseigdds ardl ST WTeid Feie 3wk &

P.Q,R,S, T,V 30T W T Ird el 3med. Jicard di= faenif, < e anfor g9 wganh emed.
d i TATTeET TetHe HTH HRATA- |, 11 T 111, U TTeTd U faemdf snfor feam ue e fobar ue
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SR RTT |I1-37 TTeTd RIFTRId a1 PAT 10T TeTd RIMIaRId Pdl oR Tt HIud f[aum I 3&d?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, VandW are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups |, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

If R is transferred in group Ill and P is transferred in group |, then which of the following statements will
be true?
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A.11-TT TTETd $hdd &I T HTT SRIdd

A.There will be only two participants in group Il
A RIS 0 eS8 93 Gapa (e

B.I-9T TTeTd diF I HRTT 3Rychid.

B.There will be three participants in group |
B.os R 1 S s ol (o e

C.1I-T7 TTeTd T FeHIT 3 did.

C.There will be three participants in group I
Cos R I K05 #1858 0o e

D. gl Y HTT Ueha TH drdld.

D.Both assistants will work together
D. =S 0 S A8 e SOy slaa 5 g0

A.11-TT TTETd $hdd &I e HTT SRadd

A.There will be only two participants in group I
Acs Xl Cgu;gckiﬂjaq)mu:m
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Answer:

AT Wrellel Ye=ld IR / 919 Hihedl & H6d. die / 9R Shcdiasd v fafdee aea
e T e oaT=T Ueh 3¢ AR Gldl. AT JIeid = SHOTRT Hhdl 2= HIer.

DIRECTIONS: In the following question, four/five figures are given. Three/four are similarin a certain
way and so form a group. Find out which one of the figures does not belong to that group.
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D. (D)

Name the famous ‘one-horn rhinoceros’ wild-life sanctuary in Asom.

= b S oS (S s TS )b 0" spetie el

AHY
A.Manas
A. b

B. IR

B.Kaziranga
B. & K

cirRmRx
C.Gir Forest
C. K £

D . &Tgl-fhet
D.Kanha-Kisli
D. s Wil


www.youtube.com/c/BADSHAHimp

Answer:

B. IR

B.Kaziranga
B. & kK

LI WA fediedT GYTHE Hle! [aUT ST HIel ey SHTed. ATHITG: I TTUET d 37T SR o)
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faem:
Hfsp:
I.H>I
I.1>F

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
H<J=K<I<F
Conclusions:
I.H>I

N.1=2F

e e gile S Gl il s g pshiale S Gl R1 G dsa ge il g8 an S il 43S (e Dl ) aa st 1l
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= S oo S il K s,

il
Hzdls:
H>1.1
I>F .l

ATad | Fepe 3@ Hxal
A.Only Conclusion | follows
A G pal U S (59 Hm

B.Wad || TS SrahRur Fdl
B.Only Conclusion Il follows
B.aii i all 2GS 5 55m

C.| fdar 11 aTde! U fsem s ST dral
C.Either Conclusion | or Il follows
C.l ol = BS Gon Sl e e &


www.youtube.com/c/BADSHAHimp

D.IF 1l g Glalal FShY SIHRUl HId e Id

D.Neither Conclusion | nor Il follows
Dl o5l B8 Gl Goom o8 PS — pe 2

Answer: D.IT |l § Grelal fFIShY SfIaul Hid ATRId

D.Neither Conclusion | nor Il follows
D.l o5 B8 Gl Goom o8 PS —m pe 2l

8 SR A, B, C, D 3101 E § U pHidb 38 o A:B=2:3, B:C=3:5, C:D=5:7 3Mf0r D:E=7:11 TT YHTUN 318, TR
A:E T,

If A, B, C, D and E are five numbers such that A:B=2:3, B:C=3:5, C:D=5:7 & D:E=7:11. Find A:E ?

SIAB «C D L3 E AS sz ob o) i i @ A:B=2:3¢ B:C=3:5¢C:D=5:7 s D:E=7:11 5 A:E S0 S pslas

A2:11
A.2:11
A2:11

B.1:2
B.1:2
B.1:2

C.3:7
C.3:7
C.3:7

D.5:1
D.5:1
D.5:1

Answer: A.2:11
A.2:11
A.2:11
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A Riem
B.&Y
CHUS

D.7dd
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B. HIAT 318 IET SquT g9l ATg!

C. {141 SIgund ffaled <ol graad 3iTg.

D. HIZT Siaund 3ffaiad et grdard g

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If my mother cooks dinner , she garnishes extra cheese for me .
A. my mother cooked the dinner

B. my mother did not cook dinner

C. My food is garnished with extra cheese.

D. My food is not garnished with extra cheese.
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A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB



Answer: D.DB
D.DB
D.DB

11 U 3ifige dd HIvh Uwdifad pa?

Who proposed the Atomic principle of matter?

€S Uity o S Ugeal Sa il S Sine

AURD A
A.Pascal
A.dSl

B.STecH
B.Dalton
B.osils

C. e

C.Newton
C.cfss

D.3{aNTS!

D.Avogadro
D.s 38

Answer: B.SlecH
B.Dalton
B.osils

12 Fill in the blank with the correct article.
He has honest face.

A.an
B.a
C.the

D.No article required

Answer: A.an


www.youtube.com/c/BADSHAHimp

13 Ueh] ITAT TG fohHTH X T HTU e 512 T UUT ThaRBAT JhSdiHe HIUa el 378, O

HTIUIMTST HTaRIH cied] HTUTH! fhHT T BT 318 2

A cube is painted and cut into 512 smaller but identical pieces by making the minimum possible number
of cuts. What is the minimum number of cuts required to cut a cube?

oS S S S pS s SIS (San oS e o€ LS G (538 512 isen i Sl S 23 K55 S pS S
S Ly R S S S

A.18
A.18
A.18

B.21
B.21
B.21

C.24
C.24
C.24

D.15
D.15
D.15

Answer: B.21
B.21
B.21
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Answer:

AT GIetd Alfgll dleseigdds ardl ST WTelid Fgie 3wk &

P.Q,R,S, T,V 30T W T Ird el 3ed. Jicard di= faenif, < e enfor g9 wganht e
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IR gt 311g. Vv 71 faendf Q Hied & &xdl, St W Iiad &1 &R ATel. 1&g W, R Iiad $H1H Hd
T8l

P TTeTd § foael HTH Haa?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, VandW are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups |, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

In which group do three of them work?
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Tup S8 A8 e 03 R S O s e )

AHI® |
A.Only |
A.Cpa |

B.%da ||
B.Only Il
B.Ci e Il

C.%a Il
C.Only llI
C.Cia Il

D.&ga5 || fhar 1l
D.Only Il or Il
D.cia 1L Il

C.&Ha Il
C.Only Il
C.ciyalll
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AT TS TYTd Dle! fAU™ 3Med SaTaaR IR 56y faal $i1g ST, 1, 11 307 IV sifeed ot Tl
3R, A J1d dar=h fIGTe aTed el dite! a1 fAUmiT I gHer. 94 ey arm 3nfor /11 avmar
gﬁﬁﬁwﬁwﬁﬁ HIA fdredt faUTa S8Rl FHRdT.

A. T4 fo fordes srqara.

B. HIUIE! folte Tehaiex 9.

C. BTal TWhaIe gadIPR 3.

D. gl iy faumM 3ydrd.

A

|. HIUTATG! foT Tihaiex A9al.

II. PTe! gelhIPR TEhacd AddTd.

1. B1e! fom foum s,

IV HTa! gellpIPR TEhacd 3dTd.

DIRECTION: In each of these questions a few statements are followed by four conclusions numbered I,
II, 11l and IV Consider the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusion(s) and then decide which of the given conclusion(s)
logically follow(s) from the given statements.

Statements:

A. All stairs are lifts.

B. No lift is an escalator.

C. Some escalators are helicopters.
D. Some lifts are planes.

Conclusions:

I. No stairs are an escalator.

Il. Some helicopters are not escalators.
Ill. Some stairs are planes.

IV Some helicopters are escalators.
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Answer:

16

Answer:

17

B.%da fsm | 31fdT UehaR 11 fdar IV fed sryeams.
B.Only | and either Il or IV follow
B.sral 5L s HLIV 0n 5SS Gsom

C.UHR ey || fasar IV Frud s,
C.Either Il for IV follows
CoiLlGIV =USssm

D.%dos BN |, (11 fdar 1v Frad sraeum.
D.Only I, Il or IV follows
Do e 1L IV = S 55

B.%da fase | 3n1fdr Temar 11 fobar v fRed sraeams.
B.Only | and either Il or IV follow
Biciyal b s HGIV G =S Gaom

4380 +12x8="7
4380 +12x8=7

4380 +12x8="7

A.2720
A.2720
A.2720

B.2925
B.2925
B.2925

C.2825
C.2825
C.2825

D.2920
D.2920
D.2920

D.2920
D.2920
D.2920

TR T VegTaN fasgIf Teg Hiourar 2

ATGIEHR



B.gIS
C.fa=t

Answer: c.faa

18 ST T WG raT FATTT Veg HIUIET 2

AR
B.3IeR
C.SIAUMRT

D.3%Y

Answer: D.o+Y

19 AT TS UAH T 31&R, g fohaT WeATe IR T GUdTd STadl 3M1ad.
Iid®! aTes o faer.

DIRECTIONS: In each of the questions, four groups of letters, words or numbers are given.

Find the odd one out.
.uﬁaﬁgddufj‘)g‘}%éd\.\c\bwkw\ S PN ‘(_).-.‘Ad\}“‘)z' e

RS U S S

A.3425
A.3425
A.3425

B.5229
B.5229
B.5229

C.8064
C.8064
C.8064



D.6057
D.6057
D.6057

Answer: A.3425
A.3425
A.3425

20 {1 ¢l ARTIUTS UMTT ST QM7 ST g eTue guie, ga=amiear fawe o fag=umtien IR ue 3iied,
i S 191 3Te.

Find three consecutive numbers such that twice the first, three times the second and four times the third
together make 191.

230 010 S 191 resanalS U e S 4 it 55l WS (05 18 £ sacli€ 50 1S Ly oS (S pslaa dael Judsa el (5

A.19, 20, 21
A.19, 20, 21
A.19, 20, 21

B.21, 22, 23
B.21, 22, 23
B.21, 22, 23

C.20, 21, 22
C.20, 21, 22
C.20, 21, 22

D.22, 23, 24
D.22, 23, 24
D.22, 23, 24

Answer: C.20, 21, 22
C.20, 21, 22
C.20, 21, 22

21 SIS BBl HRUIRIRIG TN 31101 HiTSTgEd 3M=ifded Jg0r 31107 SR NPT ATd 99041 Idid-

Symptoms like worrying unnecessarily and being apprehensive constantly about the future and other
things can be seen

= LS L LS S (g B sl Jubise Jubiss (e o Sl S s ) ciladle 7 5l (S (gl sk (s sma



A.GAD
A.GAD
A.GAD

B.ADHD
B.ADHD
B.ADHD

C.PTSD
C.PTSD
C.PTSD

D.OCD
D.OCD
D.OCD

Answer: A.GAD
A.GAD
A.GAD

22 3w Wrefifeciean 3faRT=aT HHId BIe! 31eR TS Pail 3TRd o T HHM Jiel fededr uaiaiie! Th 3
a_ab__bc_a_cd_

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

a_ab__bc_a_cd_
2SS e SR S Ja il (S SOT o e2df Giga (S8 Gae g om Cios S di

a_ab__bc_a_ cd_

A.abcabc
A.abcabc
A.abcabc

B.bcadbe
B.bcadbe
B.bcadbe

C.bcabca
C.bcabca
C.bcabca

D.bacbac
D.bacbac
D.bacbac



Answer:

23

Answer:

B.bcadbe
B.bcadbe
B.bcadbe

feear TETEY ST FEAT AET WFAD HgE Wiared Fe?
Which of the answer figure 15 exactly the murror image of the given figure?
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T ool uftwse Ao sxuamret, @re faad (P), (Q) (R), (S) AIfUT (T) B UMd A Iy SfIehHM
T HT; AR ATeid T ST .

P. ASAMINTS! TGd GUATY SHTHE od IgR PIeal- HTYITAT SiidgH gudrdt fasdr dal.
Q. MearaR areT fafacarar Rig diclars! 3ol ARGl 0T GraiHTe! W crdhdl.
R. &4 30T diegl § ard {3 Tl SHTard 3 MNYTARITS! ST

S. T RIGTeRISR Dieg] 3R QIUSIUT e e Bhadd U] TedTd usdrd.

T. SRTAT ST, iFT WIS ST UaTdT 308 died g 3rSar Udl.

JREAT FedHaR WTeierdes! IoTd ara Urd SR-d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FIFTH sentence after rearrangement?

osbea @l o bl (P)e (Q)« (R)« (S) 0s) (T) wsllom =8 s a8 Dy ¢ i i i o luss 3 S i oy e b S
s S

P2 Ssen ol G5 LS S jad 95 (SUSoae s o pd 55050 (2D,

Q. b e S i ) ke ) S SR _lliia o s5esl el e S jad il
R. =8 A S 533 UlS e Kin e s3as) Dsl s g 50,

S. LSl a8 S8 S )5l (S dla S Sld S ad She ST )l a5
T. e lls UleS S 5390 () o Dhe Ll ) 5500 oy ila S,

ef__\fl% L‘ﬁ "‘9;"\" d‘j“; L U}S A é /_—ua “—‘.'3.'3,)3 ",)\'."5J

A.Q
A.Q
A.Q

B.S
B.S
B.S

C.R
C.R
C.R

D.T
D.T
D.T



Answer: A.Q
A.Q
A.Q

25 WIcIded] Th! HIUNIHS dIc GRIGH, Th Tl IUId, “JTed] HTaTd dsidl H1edl STellaial Thadl GerT 3lg”.
T 1 Tl Biciaed] JSNRIEd B Ad 3Mg?

Pointing to a man in a photograph, a woman said, “His brother’s father is the only son of my
grandfather.” How is the woman related to the man in the photograph?

GAA]U_A_A)_J_}AISQJ}:"_saﬁﬁhljﬁ\q\a&)y%bls‘f‘\kﬁc&u\"chSC’uLU}c ‘éJSDJm‘&JJLé‘SAJiu:\Aﬁ}AAS
?L@J’Aﬁﬁ)gscu

A.3MTS
A.Mother
Al

B. &1
B.Aunt

Bl

C.SaIu
C.Sister
C.ow

D.ger it

D.Daughter
D. A

Answer: c.a’sﬁw

C.Sister
C.ow

26
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el FFAwey Tgor fedr IR A’
How manv squares are there in the given figure?
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Answer:

27

Answer:

28

Answer:

Talr aTgH fRredt Freielt Pl -

AQUER
B. NS

C.[dew
AREI]

TR USdIe UM
The social clock refers to

= oe e 658 alew

A Q@1 okt fohal THTSIRN STH d WidedT dod< faHTTof

A.An individual or society’s distribution work and leisure time
Ay S ol sl alS 1S A alaw b gl il S

B. G STaTecr=T
B.Adulthood responsibilities

B.uk s med oS ey

C.HRDIG Yo BRI, TY HROT 30T =M YeIdt S&1T3T SIfddb I

C.Typical ages for starting a career marrying and so on
C.xe dual (Szob ol oy DS eald S Sg s 5 S

D. 0! HIuag! et

D.None of the above
D.uwt &S o Vb z 0

C.HRPIG o HRUI, AU HRO! STIOT =M Yeid Sreiaio! Sdd ad

C.Typical ages for starting a career marrying and so on
Coxedal Szob o oyl S Seld 8¢5 s s



29 SR YR SHUET 39 3 YUT IS U&T T8 3r8d 0T S (el Sdepta uur fdh=IR Ua 39 3l @)
ard 39 B0 2

If Seshan is taller than Ammu but shorter than Raju and Ammu is just as tall as Nitin but taller than
Kishore, then who is the tallest?

$ 2 05 el v g laaad 538 B Leaal L i gal ) o Bgea o sal) S o lesd —u gee (lian R

A.(a) TR
A.Seshan
A (g

B.(b) fhRIR
B.Kishore
B.. S

C.(c) 3H]
C.Ammu
C.s

D.(d) 1|
D.Raju

D.g s>

Answer: D.(d) X[
D.Raju
D.g s>
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T ool uftwse Ao sxuamret, @re faad (P), (Q) (R), (S) AIfUT (T) B UMd A Iy SfIehHM
T HT; AR ATeid T ST .

P. ASAMINTS! TGd GUATY SHTHT od IgR PIeal- HTYITAT SidgH Gudrdt faedr dal.
Q. MearaR are fafacarar Rig dicare! 3ol ARGl 0T GraiHTe! W crdhdl.
R. &4 30T diegl § ard {3 Tl SHTard 3 MNYTARITS! ST

S. T RIGTeRISR Dieg] 3R QIUSIUT e e Bhadd U] TedTd usdrd.

T. SRTAT ST, iFT WIS ST UaTdT 308 died g 3rSar Udl.

JREAT hedHaR WIeitedes! IuTd arad gur 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the SECOND sentence after rearrangement?

osbea @l o bl (P)e (Q)¢ (R)« (S) o) (T) wsllom =8 s a8 Dy ¢ i i i o luss A S iy oy ne b S
s S

P2 Ssen ol G5 LS S jad 95 (SUSoae s o pd 55050 (2D,

Q. b e S i ) ke ) S SR _lliia o s5esl el e S jad il
R. =8 A S 533 UlS e Kin e s3as) Dsl s g 50,

S. LSl a8 S8 S )5l (S dla S Sld S ad She ST )l a5
T. L8 lls UleS S 5390 () o Do L Q) 5500 oy ila S,

e Uglmgalaa b g€ S S yisjbg

AT
AT
AT

B.R
B.R
B.R

c.Q
C.Q
c.Q

D.P
D.P
D.P



Answer: A.T
AT
AT

31 6 dIv[d 40 UfAC el ST, TR USATS AT HICd G BT B SAA?
What is the angle between the hands of the clock, when it shows 40 minutes past 67

6 Sup i Mgl IS S 6568 S0 ) 0 S 40 S

A.40°
A.40°
A.40°

B.70°
B.70°
B.70°

C.80°
C.80°
C.80°

D.90°
D.90°
D.90°

Answer: A.40°
A.40°
A.40°

32 o, e aaTaEys Aot qof ot @ st fes
DIRECTIONS: Complete the sertes by choosing night figure from the given choices.
—‘_r.‘LS “;.& 5\.1_1...;_;:- e ‘S-_d._“ﬂT AR o _‘;u\.‘a.‘hl:.s.‘f_:c:@.k!

Problem Figures

?
4 g | AT
1 2 4
Answer Figures
o= — =0 -0
= =0 Q== | Q= =0 0= | D= Q= =0 | D D= D=

&l [14)] ich d:



Answer: B. (B)

33 DI RRIfSE BIS Sa:
Where does the vertex of an angle lie:

deguL?SJ}AslS,\_UUJ\,g\;

A 3rqufma
A.In the interior
Ao A

B.dIRIHNTd
B.In its exterior
B.oxzoa

C PR
C.On the angle

C.or s

D gt Biurae et

D.none of these
D.ow &S

Answer: C. MR
C.On the angle

C.or s

34



Answer:

35

Answer:

36

D. 32

FIT: Wl feden faur (A) Sfor SR (R) I8t Wreid Ut am wafg fAge:

a4 (A): ST STeedl AUaedH Hed ¥hd AR Hig- CIhudrd Aad gid.
HRUT (R): ATUded Sl STed! YPad gid S dle HIGUATd HGd Bid.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Heating glass bottles helps in removing metal screw tops which are stuck.
Reason (R): On heating glass bottle shrinks which helps in removing the cork.

Glim) 8 iy e il (A) L3l (R) 0eS dite Jaltie s s (e dd ~a e o 3 S aay:

Sl (A): -2 e 330 e S8 S s (50l s ey S s Sl Sy w S Sa R S i Sl
~as (R): - sile 220 e IS0 S SIS i a0 (S35 Jig w8 R S Jig (S i€

AT (A) 30T (R) T 3MTed 31T (R) (A) d TG TFTHIT 315
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A. (A) L3 (R) U3l un e 0552 (R) (A) = Saliay G d (S

B.aIg1 (A) 30T (R) TR 3MTd, T (R) (A) T 17T TSI A6t
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) Us' (R) 8 «un gonaa 0550 (R) (A) = 0 Calias a3 (S

C.(A) I 3118, g (R) WIS 38
C.(A) is true, but (R) is false

C. (A) N = maa (R) Bl
D.(A) e 3118, W (R) T 318
D.(A) is false, but (R) is true

D. (A) 5« = bk (R) = osea

—

C.(A) 9 3118, W (R) EI< 318
C.(A) is true, but (R) is false
C.(A) &z mna (R) Bl

N

fec Ucis SugTerd 1 IATd 315
The Hill palace Museum is in the state of -



Answer:

37

AFERTY

A.Maharashtra
Al

B.&Hlcd

B.Karnataka
B.AS3L S

C.IRD
C.Kerala
C. Al s

PRIECACARH I

D.None of these
D.oy @58 = e

C.IRD
C.Kerala
C. A<

IGRIGE
X S WHR 3MMh Yhdrd 3Ta.

Hral H:
|. TWHR Pl HIAGIIR He Lahd.
II. TRPHR HH <Y I H& Xhd.

Statement:

Government of country X is in financial crisis.
Course of actions:

I. Government can legalise cocaine.

II. Government can abolish income tax

Ol

o

X o 538 s e cae Sa S She

Jac ~a3Y:
| e Ly 5 S (S S Ca S
[l B S 58 (S oS0 Caa S

AT | SR 318
A.Only | follows

A Cipal| & o &Y



B.Wdd || 3{aRUI R 3T
B.Only Il follows

B. ciyma |l & 5 LY

C.UHR | fhdT 11 3FIRe 318
C.Either I or Il follows
CoILIE 5 &Y S e

D.I far 1| LIS HTele! SR HRd et

D.Neither | nor Il follows
Dl os 18 5 G SY oen (5S — ne

Answer: D.I fhar 1| SEI0® HTele! SR HRd gt

D.Neither | nor Il follows
Dl os 1R 5 G SY oen (5 e e

38 g THTG (Bl 3hac) HRIHD ORI SUTATEgd Alfgdl SUASR ATg! =47 SR
FHRIHD OEN SISl 318
Halo effect is to link positive qualities with other positive qualities about which information is
not available
O o b S 0 ¢ e Ladss sl e Gamsd e O 500 S (s sd Cufle ¢3S 2aia S Gua Sl S84y L

A Vgl

A.Tendency
A i38)e)

B.&HdT
B.Ability
B.xdll

c.qqg
C.Habit
C.oale

D.Ua% AR el

D.Not sure
DS ~S L e i

Answer: A.EIQEF[

A.Tendency
A s315)33a)



39 YR IRl 85 Hier 3R HIUd, T Sldidhs a3 15 H. dTaid Iail. ot Y81 STdidbs desal! 1o 60 M.
e, R o di srar Foe iR a2

Bharti travelled a distance of 85 m towards North, then turned to left and walked for 15 m. She turned
left again and walked 60 m. In which direction is she facing now?

Kl @l a8 B0 sl 650 Ul D es -Gl e 15 Us) 630 Uil g LS lald S S 85 ikl (S Jled S (Sl
f oot Qe S 2

A Gf&or-gd
A.South-East
ALG e sia

B.gfaror
B.South
B. ¢

C.afemu-ufgm
C.South-West
C.e pa-csin

D.UfgH
D.West
D.w_

Answer: B.GI&0
B.South
B. s

40 TAUD DIV SIS TSHT ITET 31872

Which of the following is an example of igneous rock?

¢ 2 b (S el il S e dd 0

A.STTe

A.Basalt
A. Gl

B.gES!

B.Limestone
B.Us

Cc&e

C.Slate
C. culs



D.FHRaR
D.Marble
D. ik

Answer: A.9IT

A.Basalt
A, Sy

41 feciean wafaite! e d fFAasT:
Select the odd one out from the given options:

oS edtie € S o e ope bl K

ATY
AMiLk

AR

B.Gal
B.CURD
B..2

C.aof
C.BUTTER
C.oe%

D.5S
D.BREAD
D.L

Answer: D.@T‘S’
D.BREAD
D.3



42

I S1dqul ufkwe Fafor sroarret, @ it (P), (Q) (R), (S) 30T (T) 8 Urd a1e aig SfIeh ™
T T, AR ATeid T ST .

P. ASAMINTS! TGd GUATY SHTHT od IgR PIeal- HTYITAT SidgH Gudrdt faedr dal.
Q. MearaR are fafacarar Rig dicare! 3ol ARGl 0T GraiHTe! W crdhdl.
R. &4 3107 diegl § ard f3 Ul SHTard 3 MNYTARITS! ST

S. T RIGTeRISR Dieg] 3R QIUSIUT e e Bhadd U] TedTd usdrd.

T. SRTAT ST, iFT WIS ST UaTd] 308 died g 3rsSar Udl.

JREAT hedHaR WTeiterdes! oI arad faar SRid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the THIRD sentence after rearrangement?

osbea @l o bl (P)e (Q)¢ (R)« (S) 0s) (T) wsllom =8 o Dy ¢ i i i o luss 3 S i oy e b S
s S

P 3sen ol G5 LS S jai 95 (SUSote s pud 55050 (2D,

Q. b e S i ) ke ) S SR _lliia o s5esl el e S jad il
R. =8 A S 533Ul ae Kin e 3as) Dsl s e 50,

S. LSl a8 S8 S )5l (S dla S Sld S ad She ST )l a5
T. e lls UleS S 5390 () o Do Ll Q) 5500 oy ila S,

ef__\fl% L‘ﬁ ‘J“"‘:‘j ‘d“‘; L U}S Ay é CUJ ‘—‘.'3:‘,)" °,)L.'J‘J

AP
AP
AP

B.Q
B.Q
B.Q

C.R
C.R
C.R

D.S
D.S
D.S



Answer:

43

Answer:

44

AP
AP
AP

GTeliade®! Y 2eq P10 ?

ASITSdYHIA
B.olsdedHIT
C.ollsdcgH—q

DAUNCILIL

AT cYHIA

ST Wl SaaRAT HIBSYdd T T Wl e Ui v 1.
4K%RT3EP#A7BI9DIQ@28VUOHJ5F1%6MW

RN IR [ Wl Gt Iod! g 14 T GehIdl Iocdl a9 7 U7 gedh HIurT 2

DIRECTIONS: Study the following arrangement carefully and answer the questions given below.
4K%RT3EP#A7BO9DIQ@28VUOHJ5F1%6MW

Which of the following is the seventh to the right of the fourteenth form the right end in the above
arrangement?

S Qs o ) a0 S i i (S g i
4K%RT3EP#A7B9DIQ@28VUOHJ5F1%6MW

f oS il welh pa Scis gan e pae Sad e

A7
A7
A7

B.5
B.5
B.5



CJ
cC.J
CJ

D.F
D.F
D.F

Answer: B.5
B.5
B.5

45 TS UgH 9 7 I I 8.
Alexander Graham Bell suffered from

€ e g me pe i e e (s len oS i el R 3 50

A TR

A.Bulimia
A s 23

B.far
B.Anxiety

C 3N geunT

C.Drug abuse
C.dlaxin) IS cilidiia

D.drd- AH&HT
D.Dyslexia
D.osS Ul (S 5

Answer: D.aT< 3&HT
D.Dyslexia
D.o<S eyl (S a5,

46 16x12-672+21=7-211
16x12-672+21=7?-211

16x12-672+21="7-211



A.381
A.381
A.381

B.347
B.347
B.347

C.372
C.372
C.372

D.TiUT HIUE! g,

D.None of these.
D.od &25S =2 o O

Answer: D.Eﬂ’aﬁ ﬁ'ﬂﬁﬁ =n€°r

D.None of these.
D.owd P5S — e O



47

Answer:

T U URATA Ueh Y@ faeRiiad IR fau sigd Sui=araredt A, B, C 3101 D 318 IR faer 3irgd.
HHAR faumR St faeT samed wud fau gu=an faumTer gaad, oiftr qiel faur afbamesear e
faeread fAfed s

TEIe Sadt Thar YA UraH Rid ATs! fdhdl HFad uTe Sl gl
A. a1 ol Y T Beid gl

B. TETd! ekt YAl UTe HRd 3.

C. TETd] g AFadd gra- Heid gl

D. TEIE! it AFGAd UTa Hid.

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

One either does not follow religion or does not follow humanity
A.One does not follow religion

B.One follows religion

C.One does not follow humanity

D.One follows humanity

i S s Suie Gpend G R 0w i S (63 5 e e ) ea e am Sas o e Gl e Jlsm 1l
op Gt S ol S e Ahie e 53 Hl by JSe sl (S alea £ pugd Alea Sy (L

oS bl L 1S a8 e 5Ly (i S
ALS e 5l S (e padd (S

B S Sl S Cude it S

CUS G 5lls oS gl (md 35

D=t BS 5l S sl i S

A.AD
A.AD
A.AD

B.DB
B.DB
B.DB

C.AB
C.AB
C.AB

D.BC
D.BC
D.BC

D.BC
D.BC
D.BC



48

Answer:

49

ajm:mq&mm3mmﬁmwwmﬁﬁﬂwmm.mmaﬁmmm
gYfaeaT 3, Wold® ade ol HHR hdgl AET ol UH OeHd Aidi-ed fdd. 39T
O EreaT HaiT @leTe ool AISaT ol

DIRECTION: The question below has three items having certam relationship among them. The same
relationship is expressed by sets of circles, each circle representing one itemnrespective ofits size. Match
the items with nght set of circles.

e bl LSl B0 ey e S e S S s o SRS e e 2 e ] G e Sl S e sl
0 ot S g o3 S 13 5 T g U8 5 o T S 05 S 3L 0300

© Tk

() (D)
o7, TTOT, SITEST

Pop, Songs, Classical
L) g

A. (C)

B. (E)

U] HI TP Blad, HIEIceIed, Uier-g aRidd?

Which figure represents Rhombus, Quadrilaterals, Polygons?

08 sy eSS (G sy g geal (i oS
S LS o

(A)

(C) %
o [®




Answer:

50 T YGRS BRI [aaRTd 9udrE] Hgara Jg] Bur:

The important point to be considered for organising an exhibition is:

SEPNPAN RN P ENYVED W | R . gL PR\ TR L gvi PR R

Ad T TohTdd IR doid Sad 3Omad g
A.lt should be focused on a centralised theme
A s S S e g g 6OS e s S ol

B.d faemaf=ar HadA Smaiford et 71l urgiel

B.It should be organised with the help of the students
B. s Uls LS phie il s 230 (S sl

C.3mTHt A FeamEm § Sratadid do g

C.It should be implemented according to advance planning
C.=ula LS 38Ul (illae S (530~ eaie S b iy

D.a3d Id
D.All the above
D.olai oy 5S3e

Answer: D& H’q‘
D.All the above
D.alai 5y 5S2e

51 geid dTdia Ul SRR dler:
5,15, 70

Find the average of the scores in the following set:
5,15,70

Ko das sl & ) Sl g o
5,15,70

A.39
A.39
A.39



B.30
B.30
B.30

C.22
C.22
C.22

D.60
D.60
D.60

Answer: B.30
B.30
B.30

52 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
She broke down in the middle of her speech.

A.slept
B.sat down
C.stood silent

D.burst into tears

Answer: D.burst into tears

53 Rrefquamed oo aiTe Bus—

The contribution of Television in teaching is—

L

e a3 1S (5 18

A 3MaR 3
A.Very high
Aoy G

B.ITHIY
B.Ordinary
B.ale



c.3A
C.High
C.le!

DX
D.Zero

D. aa

Answer: A 3MaR 3
A.Very high
Ay G

54 AN RGBT, WU HI SIS Alhaed THE HRUT ATg1?

In the past decade, which of the following has NOT been a major cause of the increase in the world’s
population?

§ Uk s 65 S (S bl Gae ol S L 95 (e i A e (e (Al AL R

A.Ed Shae Bramash

A.Longer life span
A s 8 (S35 dysh

B.314e g HHI B0
B.Lower infant mortality
B.osS e Sl gl (S s

C.gUTRd Wwgdl
C.Improved sanitation
C.lba jip

D.TTU! Ta! el

D.None of these
Do s &S oo )

Answer: D.‘CITaﬁ Qﬁlﬁ :l'lff
D.None of these
Do s &S oo )



55 TS ISd16 gURT 12 GRAdId 3MTg. T fAfAe Hiel suds Ml HRId 38, 1.30 dToldl Il ai el
Hiorr R fAder sa?

A clock is placed at 12 noon its minute hand points towards North East. In which direction does its hour
hand point at 1.30pm?

Sl Sl gi- U S e il cila (S Bk Jled WS IS e S Gl sl 2 W8 LeS) 5y 2012 S sd S 38 S
S 50 e Carans S RIS 1S Ll 5 caie 30

A3
A.North
Al

B.Od

B.East
B.3dw

C.af&mr
C.South
C.eosa

D.UfgH
D.West
D.w

Answer: BHZ:&c
B.East
B.3dw

56 TR ARG T I HHRAYSD T3 Td

Immature leaf of plants fall down due to deficiency of

= R s S oS (S s S G S5 S Ut

A
A.Sulphur
A il

B.lRiw
B.Zinc
B. <)

C.hITy
C.Phosphorus
C. Lesiuld



Answer:

57

Answer:

58

D.gifsaH
D.Sodium
D. eﬁ}w

B.lRiw
B.Zinc
B. <)

3fradf feid Sice SUHE Skl did UTeRugTdl SgHd odl JTe Furdrd
Recurrent anxiety attacks in which the person experiences intense terror is termed as

S LS e U S Gusne G LA o gl (e s e 55 ) sl

A S fdpR

A.Panic disorder
A.M.AJLG g"_\‘i}%)

B.rHIfS® et
B.Social Phobia
B.—s ales

C.g=yid! iyt
C.Angrophobia
C.lus 5 50 G S —a2)

D.aT0e! Tehg! gl

D.None of these
D.ust 2SO

A S AR

A.Panic disorder
A le Cui

TeidUD! HIUIT U Jeadl RIsauareR fed-sifee UHg usdl?

Which one of the following aids has the long-lasting impact on teaching?

€ = LSy Ui alaaal) iy Gt e 058 o (e SR i3 s i

A ST g% Wa: Ud 3Meg HladT 30T faemafr g af srevar URd Hral

A.When you will yourself draw a diagram and also motivate the students to draw them
A5 RS QA s (Seldl A S byl gl S Gl o) S8 S 2 s



Answer:

59

Answer:

60

B.NIgT R TSI hoTar TEIe YR TPl dbigH UM
B.When you will bring a beautiful figure drawn on a roll-up Board
B. =S o S Ul IS s d S gl Joo s

C.SIgT Iie! TANTRIGS A hlal Aafdd 3Meig SHTUMd 0T o FRidauard Tgridl U araRTd

C.When you fetch some related diagram from the lab and use it as a teaching aid
C.op 58 Juenial  ysha S 3 Sl 5l Gy 558 sl ol Sl3 et (38 s 5 5k o

D.SIgT g1 faemai= et ue SR SIeRd Hig U FiTa
D.When you will inform the students to draw the diagram from their home in advance
D.osili o) Sui38in (e 568 il o5 a8 K (Kol S G gale il Gl ca

AT g% Wa: U 3MTeg dladT 0T faemafr YgT Ot STevary URd HRdl

A.When you will yourself draw a diagram and also motivate the students to draw them
As SRS GH dan Sellls A S by )yl S Gl ol 805 Syl 2a Ol

Jdlg Th —
Communication is a—
Sl = wlal so—

AT ST Sum=icelt ufehar amg

A.Process—which is going on between the Source and the Receiver
A 5ol e Sedi€ Jgay Hy Ml sa—dae

B.®eUAid TGH-UGH HRUART Tdh 31 3Tg
B.A condition of exchange of ideas
B. clls S (S S Aals K ala

C. IR BXiaRU HRUTTE! U Ugd 3T

C.A method of transfer of information’s

C. il Sl S i S Claslas

D.ad 9d
D.All of the above
D. s Y s i

D.ad gd
D.All of the above
D. e Y s i

JUAER: T YeaTaT JHATS T HIUMET 2

AT



B.g%dd

CRide
D.TER 0!
Answer: C.@G’C’
61 U] ST 3/5 T 60% & 36 SRICHN <t ST 378

If 60% of 3/5 of a number is 36, then the number is:

Ly S smic 55 536 < 60% S 3/5 S i (oS S

A.80
A.80
A.80

B.100
B.100
B.100

C.75
C.75
C.75

D.90
D.90
D.90

Answer: B.100
B.100
B.100

62 . Aferent guf &,
TRP, NLJ, HFD, 7.
DIRECTION: Complete the series
TRP, NLJ, HFD, 7.
58 J&Sa S 7o ol iy

TRP, NLJ, HFD, ?.



A.AZX
A.AZX
A.AZX

B.CJX
B.CJX
B.CJX

C.BZX
C.BZX
C.BzZX

D.ZWU
D.ZWU
D.ZWU

Answer: C.BZX
C.BZX
C.BZX

63 frc=T: @reiter vy fecrean Wreaiar setid afred.
show/ slot/ down/ ride
“down” 1 RI&GId fobell RIeaTT<AT Siie! AL fddrd Iuf 3fied foidds STeit quf ATeidiel SHiga?
DIRECTIONS: Following question is based on the given words.
show/ slot/ down/ ride
In the word ‘down’ how many pairs of words have as many letter as in English alphabet?
o Jaldia igadl 20 dlse S dias Culy
show/ slot/ down/ ride

Op b (SIS S uad Gioa o K3l e gl ‘down’

AUTDH
A.One
A

B.gH
B.Two
B.s

cdH
C.Three
C.os



D.UTU®! Thg! ATgt

D.None of these
D.uw &8

Answer: D.WQH’T@ H’Iﬁ

D.None of these
D.uw &8

64 T UfqHrar faemef midrrear oA U iR e ) 3nfdr gre) ot et FRigifehd Pt 3R, ARk U
ufkdere WU gad! ufdfdar o1 srd?

A gifted student commits a serious mistake in Maths paper and you have marked out the error, then
being an invigilator what will be your reaction?

e Cufng e ¢ S il (S Ghle Sl ) o S QG S Jle JLEM @\wd&\é@bgjécq&%dﬁl
?Lg_jf\dAQJJL:\SLS&?J

A faamaian a9 SRIgH <3 g1 HIgd I uary Jior

A.Tell the student to remove the error through indication
A.cdlie S e 1S il aag ) So il Sale Gl

B.JHH g PIUKdta! Ufdfehar fael SIomR et

B.No response will be given by you
B.. L S Uy daed) SsS

C. T IARUBIH AR Tal HRAMT JATdl AFed Fio)
C.Tell him while putting signature on his answer book
C.oilhy iy 5 S adiin j S lsa (S

D . JIYRUT T SO,

D.Giving general hint to the class.
D.tu.A UL&\ ('.\LQ _95 L)‘“)“S

Answer: B.gHZATh g Divrdie! ufafehan faedt SR =gt

B.No response will be given by you
B.=S LS L daed)y SsS

65 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘put one's shoulder to the wheel’ in the sentence given below?
| know that the new deadline is tight, but if everyone puts their shoulders to the wheel , | know we can
get it done in time!

A.To work very hard and diligently.

B.To assign the work to others and relax



C.To get the work done from outside

D.None of the above

Answer: A.To work very hard and diligently.

66 LI T uyiae fociedn gatardeT Heiftid sieR/Rsa/Rem ST,
7:32::8:7

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

7:32::8:7
7:32::8:7
A.48

A.48
A.48

B.30
B.30
B.30

C.35
C.35
C.35

D.37
D.37
D.37

Answer: D.37
D.37
D.37

67 .000001 T THS farcll 3@?
What will be the cubic root of .0000017?

0.000001 8 5 LS &5y cuaSa S



Answer:

68

Answer:

A.0.1
A.0.1
A.0.1

B.0.01
B.0.01
B.0.01

C.0.316
C.0.316
C.0.316

D.3.1E-2
D.3.1E-2
D.3.1E-2

B.0.01
B.0.01
B.0.01

TSRS (Airbnb)dl FHI HRITY -

The Indian equivalent to Airbnb is -

o 0 2 (AIRBNB) = (5 sbose ez S

A foueTe

A.Flipkart
A&

B.HIAT
B.Myntra
B. i

c.3fa
C.Oyo
C.x

D.3fdT
D.Ola
D. ¥l

C.3i
C.Oyo
C.5s



69 Aleae sPHed gafd dieT o= 38
The largest country in the world by population is -

5&4\3,15&&._\“151:\3Ac‘.un._|\.u&é§i_ﬂj

A-gTET
A.USA

Ao oyl s

B.HIRd
B.India
B.o e

cdH

C.China
C.uk

D XRmm
D.Russia
D.oss

Answer: c.dH

C.China
C. uk

70 4 x 4 T2 2T GHHMEE 1/5H ST S favel! dIh I THTAS BT Acdiar?

How many squares of side 1/5 m can be induced in a square of 4 x 4 m2?

€ USila LS Qe oo Sise e 4 X 4 S S e 1/5 b (S s se IS

A.400
A.400
A.400

B.40
B.40
B.40

C.80
C.80
C.80

D.320
D.320
D.320



Answer:

71

Answer:

A.400
A.400
A.400

? Iohid WHITARET 3

would be an evolved trait

éﬁ&mw&gw‘)\dﬁ\

A 31Tt @Tuart vgt

A.Tendency to overeat
Adbaa, S8 eSody)

B.&iqTa @ikd ufadrg

B.Quick response to danger
B.sl U o sk

C. 31T HUT (3URM)
C.Aggression
C.ans s

D. iUt Id
D.All of the above
D.e¥lz 0

D. Ut 9d
D.All of the above
D.se¥bz 0



72

Answer:

T U URAT Ueh Y@ fay=iiad IR fau 3ied Sui=araredt A, B, C 310 D 318 IR faer 3irgd.
HHAR fAuMR St aeT samed wud fau gu=an faumTar gaad, oiftr qiel faur afbamesear e
faeread fAfed s

g TebaR TuraRiaR foba TRefaR SR 1R,
A. TRt TuraRiaRr snemid SR,

B. fRreraxht qoreRiar e e

C. Rreqgidt TRefaR SeTiRd 3178,

D. farsggit TReiaR Serfa e

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The scholarship is based on either merit or need
A.The scholarship is based on merit

B.The scholarship is not based on merit

C.The scholarship is based on need

D.The scholarship is not based on need

i S s Suie Gpend G K 0w i S (63 ) e e ) ea e am Sas o e Gl e Jlsm 1l
op Gitbe S o S e Ahie e 53 Hl by JSe gl (S alea £ jugd abea Sy (L

ol (Sl il e b i s
A e iy (S S el IS

Beile e g by (S & e ISl

C sile by (S &g pm il Sl

Disile U g Ay (S Gy g i ISl

A.AD
A.AD
A.AD

B.DB
B.DB
B.DB

C.AC
C.AC
C.AC

D.BC
D.BC
D.BC

D.BC
D.BC
D.BC



73

Answer:

74

WTeAde! S T H-aRevor g fafRmyar Al
Which one of the following is not the main characteristic of Task-analysis?

S0 S U O L 0SS e i el il (S g S Sl

A faemeata qui snfor ai=h R v emar

A.The description of the students and their learning abilities
Acalay (S gsindia (S gSau (S O sl slilb

B.3f5d aaue izwul

B.ldentification of desirable behaviours
B.oalil S Gl d aysllas

C.31=f Iior fhar R siiwwn s faamais g Sfesd adudmid! SUeT Bl oirs, [

C.ldentification of stimuli or situations by which one can expect student desirable behaviour
C.obsu Sads Sdee jobamsthe Sale cllls (A€ 250 S Gua i (S V(S Ao ss

D.Rrefavar 329 siies@ul

D.ldentification of teaching objectives
D.caalis S aalia S (53

D.Rrefavar 329 siies@ul

D.ldentification of teaching objectives
D.caalis S aalia S g 53

WUt gaid AeT Squifes et
Find the largest among the following fraction

OGS GO S (Fsen e e e e S ) A e
GBS N € 65w o (e 908 i~ e

A.27/10
A.27/10
A.27/10

B.34/13
B.34/13
B.34/13

C.34/15
C.34/15
C.34/15



Answer:

75

D.28/13
D.28/13
D.28/13

A.27/10
A.27/10
A.27/10

LI : WA TS THTd & fau™ | 31707 11 lEae e § e UhaR Wadd HRUN 3Ry [ahard fdhdl waas
HRUTY GRUTH 3R XevdTd. ATt U faU™ Sav faurran uiRome SRy xidbdl. el faum arar for
WTeTeTte! HIvTET ITRTET YAt a1 gigt faummdia deuie auie sar d 3ar.

faem

|. 3TN, HRd 30T Urfsar=r=an Gauyi-T fguah Yy GURuIEIé! urdd S9avdrd aRidd 3iTs.

I1. Gt STETSTd URRTY A el 30 YR J Uifebd IRy IR U doy YURUAS
STURG HTE! UTad Al

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. Today, the Prime Ministers of India and Pakistan have decided to take steps to improve the bilateral
relations.

Il. Next week a Committee of Foreign Ministers and Senior Officers of India and Pakistan will work out
further steps to improve the relationship.

Sl 53 O Ve o a8 1l | o) 11T 5 Sl - 8 00 o s 5 D0 S lisa s 331 e b Slosas 315
o A 1S Ul o8 8 s i oS S A ) 3 s Gt U 31 5115 53 (s S0l s (e 5l
o S s e St S Bl ae 5 S iy i

Sl
| — 2 WS Alad ISl il 0 Sl iy o< clilad adjla 50 3 ) fie il S LS ol (lansy &
-G8 o S sy el 350 o S iy (5 i il eSS sl Jiiaes 5l ) e ()8 S GliSly ) GRI sy K.

A.| BT URUMH 3118 31107 11 § AT dlehle 3101 UTHE HRUT 3Tg;
A.l is effect and Il is its immediate and principal cause;
A Gl | el gl ol 2 AV -2 s b ol 58 S o

B.| § dTe@hIa S0 Y HRUT 31Tg 3707 1| BT /T RO 318
B.l is the immediate and principal cause and Il its effect;
B.owi gl | s Ol sl o s i Dl o B - = 3 S Gl



Answer:

76

Answer:

77

C.1 81 URUTY 318 U I 8 T dlehbled HTIOT TG HROT TG
C.lis an effect but Il is not its immediate and principal cause;
C.ed O | i Gl 5 = A= o s sl o) o (S o

D.I1 T URUT 318 U | § T ATeh1es HTIOT TR HRUT ATg!
D.ll is an effect but | is not its immediate and principal cause;
D. e Ol 1 e gl (S = S |- = o~y 3y sl 558 (S !

B.| g dT@pIa A0 U HRUT 3MTg 3707 1| BT A ROy 318
B.l is the immediate and principal cause and Il its effect;
B.owi gl | e gl sl o s iy Dl o8 - = 3 S Gl

Tigy SaHe SIET 8l T WU 3 Td

‘Jatra’ in West Bengal is a form of -

o e S S e IS 2

Afpde
A.Cricket
A.S ES S

B.ATXA
B.Theatre
B..S fug

c e
C.Education
C..S pilas

D. i
D.Music
D.S (Risa

B.AIA
B.Theatre
B..S e

90 REHR Rt ufgel! YR Sadt?

Who was the first Indian to win the Nobel Prize?

LS Jeala il g 5 pan (Sl gy -



Answer:

78

Answer:

79

AXATETY TR

A.Rabindranath Tagore
A S ¢l

B.HGTHT el
B.Mahatma Gandhi
B.a8 Wil

C 3R dg fagmrR
C.Ishwar Chandra Vidyasagar

C. Rl Ly Hain gl

D sifdbH =i FIcTear

D.Bankim Chandra Chattopadhyay
D.csboasly sin yxin oSy

AXATETY TR

A.Rabindranath Tagore
A S gl

Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.

Jenny said to the watchman, “Did you find the key anywhere?”

A.Jenny asks the watchman if he found the key anywhere
B.Jenny asks the watchman if he has found the key anywhere
C.Jenny asked the watchman if he have found the key anywhere

D.Jenny asked the watchman if he had found the key anywhere

D.Jenny asked the watchman if he had found the key anywhere

SR Afg=arn gar feazh Afaar=ar smiez=n IR A9 3¥d, aR Afe-ar=n 1«7 fea=h HIordT ar 3re?

If 9" of the month falls on the day preceding Sunday, on what day will 15 of the month fall?

€S58 G ol oS e 00 O e 5y i e )5 259 (S e S

AXIhdR
A.Friday

JAWN TN



Answer:

80

Answer:

B.RIMAR
B.Saturday
B.oasu

cXfaar
C.Sunday

D TR
D.Monday
D.ox

AXIhdR
A.Friday

AW TN

RIGITITES! W U aRdidd axgal aluR HRUATHY WIeeidh! HIvd Udh SRIaR 3R?

Which one of the following is correct statement in the use of real objects as teaching aids?

§ 2 Ol o 50 Sl L (568 s e D~ i (e S Jlenia) yy jsh S 3 Kiadd S oludl i

A TR Sfidd UTugie Ucie UTfEed HRUIR ATg! of avlieTd] T8as Mes [dhdl JHdH & dbdTd ok &1
$AT, A S, HioR 3G,

A.You will not demonstrate live the living animals which can create nuisance or harm for the class viz.,
dog, monkey, cat etc.

Ay chali b Js i 2 S s (e oni LS ¢ ok a0 a8 S O o ntae Ll IS (g sila g e b (S ol

op S S,
B.g%! AUcad UTAfEd® HRId Said UGRIA Tgoqul ol SiTss [l

B.You will demonstrate the plants which can be exhibited easily
B.o sl (S e (Sl (e (S o B S e nldae 8 (505

C. TS T IR I Ui H1ae Sdsd o famafean e wafere ufdaws sied iy
T U Bl oIS, bl

C.You will like to demonstrate those real objects which are beyond the experiential limits of the students
but can be demonstrated easily in the class

ClS a LS o e S o o (Al (e 318 O G ol o s (S (S el s (e ils US ol 1S 6Ll Ba o
=

D.(B) 3TfUT (C) SRIsR TR 3MTgd
D.(B) and (C) are correct statements
D.(C) s (B) L il o 2

D.(B) 3TfUT (C) SRIsR AT 3ATed
D.(B) and (C) are correct statements
D.(C) s (B) L il o 2



81 T g fdhal YHIST1 Sivlde! giiHeRS fdar fadferd aruedten 3y TgTd Sild.

Any harmful or disruptive behavior for a group or society is termed as:

= U Ly S s euiali b ed (luall (S ) S pilee by R S

AT fq9Tdes arTudh
A.Antisocial behavior
A =0 s

B.fgq® arus
B.Violent behavior
B.yo S 2

C.Hae faRieft armue
C.Anti-psychological behavior
C. =50 Shmd

D.3HMHTY dNTU[h
D.Abnormal behavior
D. 50 Asare 2

Answer: A FHTS fauTdd aRTUS
A.Antisocial behavior
A =50 s

82 RIGuame) IRUGR WIeTate! HIvK Te YHHT TrdRe SId ATel?

Which one of the following role is not played by motivation in learning?

€ WSS o 1 S e 058w (e DS 3 s e e il (S 18 Alasa (e S

AT FSUBIaT STe <ol

A.Arousing human behaviour
Al g s b S gy Sl

B. AT I el TG YRTAT 601

B.Persisting human behaviour
B. = U3 leS) (Bl 58 msy (s

C.HTd! diu[e feda daur

C.Sustaining human behaviour
C.leS) A S dee (Sl



Answer:

83

Answer:

84

DG aaU[® HIBGA HIGUl
D.Detecting human behaviour
DU Ay S ) (sl

D. A4 IdUE BT HTE0)
D.Detecting human behaviour
DU Ay S ) el

afd RIS A0 3T —
The most powerful computer is—

= PS5k

A gUR HIUTh
A.Super computer
A 5ispeS sp

B. & HTUTh
B.Micro computer
B. fsmeS 55k

C.dg Il
C.Mini-computer
C. FsmaS e

D.ad Id
D.All of these
D. g e O

A gUR HIUTh
A.Super computer
A 5sS s

T feeroan Giee HI0Tc HIdHl YR 3Mebciereier A0l quT #omdy Wea el 387

DIRECTIONS: Which answer figure will complete the pattern in the question figure?

T I P O PR 0 e T TR
¢, | o
W
5%




(A)

(D)

Answer: 7

85 e el Uy Uy fomgr=at (?) ST I SieTs! Jod I 8472
1.37 x 12345=7

DIRECTIONS: What approximate value should come in the place of question mark (?) in the following
equations.

1.37 x 12345="

& T s isedi L 058 5y S (S (?) 012518 Ul (0 e 0~ e 1l -
1.37 x 12345="

A.17000
A.17000
A.17000

B.15000
B.15000
B.15000

C.1500
C.1500
C.1500

D.14300
D.14300
D.14300



Answer: A.17000
A.17000
A.17000

86
—4/5

243
i =5
=

A. 81/16

B. 16/81

C. 4/9

D. 9/4

Answer: B. 16/81

87 WU BTl ayd SHfUBR ATEr?
Which of the following is not a fundamental right?

$ 2 ot B b L S s e dD ~a e

A I SfIHR

A.Right to equality
A. G K &l e

B.UUTI SHUDBR
B.Right to property
B. 3= S aluils

C. W IHR
C.Right to freedom
C. G~ SudJ

D.TNyufaRIeh SifepR

D.Right against exploitation
D. 38 Sl dla S Jlanial

Answer: B. AU 3MfIHR

B.Right to property
B. 3~ K daila



88

Answer:

89

14 IETUdd=aT e b ITS! @eliaid! Jaid Hedr H1 3g?

Which of the following is most important for growth of children up to the age of 14?

O o e A S laipld (S s S S 14 LS e b e

AGY
A.Milk
A.229

B.Slfa I

B.Vitamins
B.ols

C.aRa
C.Fats

C.cud

D.UH
D.Proteins
D.oss

D.UIcH
D.Proteins
D.o s

freT: fadiean sids mifcrdbdia gobra T JNe:

13, 17, 26, 50, 100, 200, 390, 679

DIRECTIONS: Find the wrong term in the given number series:
13, 17, 26, 50, 100, 200, 390, 679

oS i Bl ez e e Koo Gyl

13, 17, 26, 50, 100, 200, 390, 679

A.100

A.100
A.100

B.50
B.50
B.50



C.200

C.200
C.200
D.390
D.390
D.390
Answer: C.200
C.200
C.200
90 foiTT YORSTAT DIvht [y ATdar?
Who discovered sex hormones?
S 2 oS S8 (S sk (i
AT
A.Hansen
ALomai
B.guiH e
B.Eugen Steinach
B.gdl o 5
C.USTS Pfed
C.Edward Calvin
C.onslS 3,153
D.diceR dlg
D.Walter Kohn
D.cnsS Al
Answer: B.goiH Red
B.Eugen Steinach
B.zuiu) oL 5
91 DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in

meaning to the underlined word from the given options.
Over 25 people drowned when a school bus tried to cross a river and flood waters swept through.

A.Drought

B.Overflow



C.Downpour

D.Rains

Answer: A.Drought

92 I TAd uiHe e yaiaiayd Jeftid e T Hasr.
HCM : FAK :: SGD : ?
DIRECTIONS: In the following question, select the related group of letters from the given alternatives.
HCM : FAK :: SGD : ?
-8 e g R Adleie S Gigpa e Jaliie 83 e Jlsms i i e 1

HCM : FAK :: SGD : ?

A.QEB
A.QEB
A.QEB

B.QIB
B.QIB
B.QIB

C.ESQ
C.ESQ
C.ESQ

D.GES
D.GES
D.GES

Answer: A.QEB
A.QEB
A.QEB



93

Answer:

94

IS 39 TTT AU faug 3M1g. 15 Iui-aR 1 ST Jardal guic HiaT S, J&1 3T THUl 39 S
3g?

| am thrice older than my son. 15 years later | will be twice older than my son. What is our total age
now?

(WS e e e e Ko sla 5158 o o W e Jw 15 05 13 83— Hn 4 e

A48 IY

A.48 years
A48 Ju

B.60 %

B.60 years
B.60 Jw

C.64 T

C.64 years
C.64 Jw

D.72 9%

D.72 years
D.72 Jw

B.60 %

B.60 years
B.60 Jw

o1 faRIY gicsfae HYH, SR Siiyera feval, ieYamdr ard, AT dufds<l, qufdiar AR, AR
g, fUaesran et SiftT fHeaTar SRl 3 Wed, a) a1 HINHed AFd! IadT 1 ST 3Rd?

In a certain code language, if Violet is called as Green, Green is called as Red, Red is called as Brown,
Brown is called as Orange, Orange is called as Yellow, Yellow is called as Blue and Blue is called as
Indigo, then what is the colour of human blood in that language?

U S o s o 2 UalS se SV (2 UaLS Y S oy o UalS ) S o &) e ) S b (e saie SO
WS Ko, 8 gsa S gl e gl ol 58 = BalS Ji 58 Lo ) o Bl Sl S Ly ¢ o WalS Sy oS o )l ¢ UlalS
.

=

Al
A.Red
Ay

B.FesT
B.Blue
B.



Answer:

95

Answer:

cfexar
C.Green
C.\xn

D.dufsst
D.Brown
D.l_ss&

D.dufsst
D.Brown
D.l_ss&

FHL THT GATdl Y WToaT a9 318, Tl AT of 9o HRIT graara?

A child has nail-biting habit in the class. How could you improve his habit?

Som s iy i e S Cile S ol o cule (S s AL e S S s S

AR d e I1d HRUT Al TETGT HIHR SR ATet
A.You leave it because it is not a dangerous disease
A. = 0 Goben SUjba Sl S5 5S (0 Ssen il

B. TN AU Td HICHR FREUI Ho Il Al IaU[d Saardl Yad did

B.You attempt to mold his behavior under strict observation
B.uw S8 GRS (S Al S gy S0 ad _Sealie i

C. TR e e S{UHH HRId
C.You insult him in the class.
C.om =58 abiay Gae oS il

D.JR! AT Ulddbidrs dshR HRId
D.You make a complaint with his parent
Dot S8 sl gl S (l

B. TN T[T HICHR FREU B qlal Al IaU[d Searddl Yad did

B.You attempt to mold his behavior under strict observation
B.up S8 S (S ly S ) S o dad _Sealdie i O



96

Answer:

1 : WTaitd U UHTd G- faam 1 3for 11 faed 3med. & faem Thak Wdd HRUN 3 dbvdrd fdhdT wWd
HRUTY GRUMH 3R YehdTd. At T fAU gav faurran ufikom sry srebd. 3l faum arar snfor
TS| HIUTT IR U4t 1 gig! fauiadia deuie auie sl d 3xar.

IERIGE
|. f[oaTeeTer YoT=dT Ui a1g gid 3MTed.
|I. TSTAT g d¢ gid 3MTed.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. The cases of sex outside marriage is increasing.
Il. The cases of AIDS are increasing.

by 5 e Jlsm g o 1l | ool 1T 80 by m0n R 00 -0 5w 0 I S Cllsas a1 g b lasms o))
O G S Qa8 8 0 2 AS (S Alead gl a5y Sl (ssa o S 5 1S 2 s Gl Sl s (e il
= B8 s s Sl S (3l e o S il sis0

Gl
| — = b s Al (e e S i S ol
Il -2 Lo s mdlial (e oot (S € S 534

AU | RT3 3T faem= 11 = uRkme 3e:

A.Statement | is the cause and statement Il is its effect;
A Y | s gl oyl 2 sl oo A S

B.faem 1| HRUT 31g 3fUr faem= | e aikomy 31re;
B.Statement Il is the cause and statement | is its effect;
B.owi gl Il i Ol L) s |- = AT S Gl

c.faur 1 3fo 11 T WA T HRU! SR
C.Both the statements | and Il are independent causes;
C.omad il G gisn | aad ) 1w Slgas 230

D.faem | 3M1f0r 11 S8 Xads HRUM TR 317 d;
D.Both the statements | and Il are effects of independent causes;
D. s Sl G sisa | el sl 1] - i S ilyga g 31

AfSUm | RO 3117 30T faem 11| = aivoms Sire:

A.Statement | is the cause and statement Il is its effect;
A g | s gl oyl a2 A S Gl
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Answer:

98

7001 AU GHiaRomAed 107 G=g1 URd SITur AT SRR Tordld

The circulation of water from the earth to the atmosphere and back again is known as

- = bl S s obsd sl i3 R (Sl (e L (e

A UG I
A.Rain Cycle
A58l o)

B.dIGos! dch
B.Thunder Cycle
B.JSsil g

C. v Ish
C.Water Cycle
C.J5u Ay

D. W T
D.Storm Cycle
D.J5% o) 5l

C.UTWITd Ik
C.Water Cycle
C. 5l i

IS YT IS Srgara ATt
Excretory system is not associated with

duﬁm.@jhé ........ (‘LL&Y‘}C.’)SGJB“JL‘

A.Kidneys
A 0 R

B.&IH
B.Ears
B. o«

CHTHY

C.Lungs
C. Usiene

D.gdl

D.Skin
D. s



Answer: B. 14
B.Ears
B. o

99 TGHTIA TSI Al qui- 3 HRdl Jsd

A trait is best described as

A.gSUTITT g iar goidhl
A.cluster of surface factors
ASies S dalse S g

B. Tl SAoRiTag.aral aregRalt geit

B.a temporary altitude toward a person
B. s (pal e Sl Gk (S (add S

C.TETT okt ga-i- pIIa= Ul WHTd

C.a relatively permanent disposition of a person

D. TR AT G SHTHR GUIRY ATdTaRomA iR Teid e

D.an environmentally determined hypothetical construct that shapes an individual behavior
D. = b JSli (S )l S 2 e SOl a2 BOS et (S (oS ok s Jsale Lyl SO

Answer:  D.TWTT ST 9N SHTHR SUIRY ATaTaRoNH fRuiiad Teta e

D.an environmentally determined hypothetical construct that shapes an individual behavior
D. = b JSi (S )l S 2 e SOl a2 BOS e (S (oS ok s dsale Ll SO

100 5x + 3y = 31 30T 3x - 5y = 5 TT THUA GHIBHRUNAT GUI HROMT x 30T y =T fbet:
The values of x and y that simultaneously satisfy the equations 5x + 3y = 31 and 3x - 5y = 5 are:

X sy 5 &l glue iy S sa (iledo g SX + 3y =31 3 Usix - By = 5 (e S ehae S

A5, 2
A5, 2
A5, 2

-5, -
-5, -
-5, -

W W W
N NN



Answer:

101

Answer:

102

Answer:

A5, 2

HIaT. Tt W, e SR Seway SOt Frger S

DIRECTIONS: In the question below, select the related figure from the given alternatives.

— AT i e A o e SV S e e S GRS
Problem Figures: Answer Figures:

¥IVIV(2] [HI¥[¥[Y
(A) (B) (C) (D) (1 @ ((3) (4

A1

B.2

C.3

D.4

C.3

- GRIR TS0} T AR 3 BT 2

AFTH S0
B.AI3HE B0
C.3{=Id gIUl
D ¥4

D.ad Id



103

Answer:

104

Answer:

. URUIRS ¢felioHed U HIdT — = HHARAT 3T

The traditional Television has a great demerit of—

= e SOV S 0 A8 s

A fa=mef anfor fRreresiaed siiarforaian 3rvra

A.The lacking in interactions between the students and the teachers
A.sS Ope G b lae pn S o3l sl G sale Gl

B Riepfquartasd! fRigrepian fAfehg edio

B.Teacher’s passive attitude towards teaching
B. 50 drd ne S abu) s (S g

C.T1 A1egHTg R favararat el srrmefdr

C.Inability of teachers to teach through this media
C.oblb (S S e o3l amy 33 S Uik ()

D. 7] Xehd ATg!
D.Cannot say
D. 5w ~S

A fa=mef anfor fRreresiaed siiarforaian 3rvTa

A.The lacking in interactions between the students and the teachers
AlsS e Con Al Ghey S oXilul sl sale Qs

Tt 3Rl TG DI ?

ASHIR
B.Sia

C Wb
D STt

B.SHfeA


www.youtube.com/c/BADSHAHimp

105 Yehd! AMAHS adu[d dredT a1 MR Saaqd Hid—

Chemical behavior of an element depends upon its—

=B =S o) Jhanil I8 i s S S Cinali) S

A.SUbSTce Tl Tt ST
A.Number of protons in nucleus
Adland (S 0555 O oS g

B.3{U[baIcd Tl IS I-a! AT
B.Number of Neutrons in nucleus
B.olaxi (S Oy e (e el i

C.3{UbaTHIad! RO Sl ST
C.Number of electrons revolving around nucleus
C.aland (S (s 8 My S8 (a8 a8 a)) S il

D. U &Id U U AT
D.Number of nucleons in nucleus
D.alaxd (S G 5alS g (gpe ailS 50

Answer: CWMW%@WW

C.Number of electrons revolving around nucleus
C.alaad S o Bl My S8 R R a)) S il

106 U1 JaTeT Bicidhs i grRad XHUT UITa, “8T A1 SHTeT Thadl ardm e 31T THUR &

qArIEd B A1d 3182

Pointing to a boy's photograph Raman said. "He is the son of my mother's only son". How is Raman
related to that boy?

s LEILS 1S S50 Gy "o Ui 1S a5 S Gla e ™ 4S5 ) S8 oL il (S el (S S5

A HISH
A.Brother
A.Se

B.®Ich]

B.Uncle
B.la>

C.ddd HIS
C.Cousin
Caybs

G For More Info And Videos About TAIT-Exam Syllabus And Other Exam Visit My Channel
TAIT =1 30 T4 PDF You @D Tube.com /|
BADSHAHImp Available Request {9 9765226781 Subscribe My Channéi- -


www.youtube.com/c/BADSHAHimp

D.dsid

D.Father
D.ou

Answer: D.d3id

D.Father
D.cu

107 IO HIUKT 3Mdpelt fermroan, el afor IR afen g Ard gxfad?
Which of the following diagrams represents the relationship among Sparrows, Birds and Mice?

§ o S Saiile (S aldlad (e )0 S e sl U cumd o OS o 0 U5l SUIS D a2

(A) @

00
B o
@
Rl

o) |©

O
Answer: @
(D) o
108 HIUTT ERTAT YR "Rifeiep i el Teea Si?

Which city is called the "Silicon Volley of India?

=B bs il 08 wali S by sl

A.BEITETG
A.Hyderabad
ALl



Answer:

109

B.STd®

B.Bengaluru

B. 5,58

c.Hss
C.Mumbai
C.ae

D.fewt
D.Delhi

D.o

B.aTqE

B.Bengaluru

B. 5%

I WA Hifgd! dredsigdes ardT JTOT Jreite g S :

P.Q,R,S, T,V 30 w Iy Ird gurtt med. Jiard diF faenif, S Rrare snfor <= wganf smed.
d T ITTATeaT e THE HTH HRdTd- |, 11 3707 111, D TTerd U faemeff 3nfor foesmm U e fhar ue
gganft ang. S 1 faemif sirg 3for @t P Aied 111-T7 TTeTd 3MTg. P 8T Igalit 3118, | T TeTd bded T 31O
GIRT wgantt 31mg. Vv 71 faemdf Q Jied @ &xdl, St W Iiad $1H $Rd ATel. 1&g W, R Jiad $1H Hd
T8l

Trefidtept HIur Termed IiF faemeff smea?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q,R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group lll with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

Which of the following groups represents three students?

o Dl SOl R 0 i sl o5y e s S Slaglae Jid aa e iy

PeQeReSeTeV sl W alise o g - Oislaa 53 sl Sl 53 cale alll (8 s e O -0 £ 18 d Gl (e Jliasas SO

G S T s T -0 Osbae S b eSSl S oS gl ale Gl Sl e s R i om 5 S a8 (e S = ale il SO
G R s N se Prs 8 stan | misd o Oslae S s e el S Cipa pe T o il S Ve ale Gl Sl Q il S
2 USASW oS- BS G dlS el SWeR - BS (o S gl S

¢ 2 US Sl (Sl 04 g R L S i e 1 ke

ATVS
ATVS
ATVS

B.TQS
B.TQS
B.TQS



C.wWQs
C.wQs
C.WQs

D.31q3} Anfeedt

D.Data inadequate
D. = st B3

Answer: A.TVS
A.TVS
A.TVS

110 DT P UichaHe) GIUBTR S0 HIa SHSHdss ariad Tl Th Jayd el AT 3Mg?

In which of the natural processes, water is one of the basic raw materials along with the sunlight and
carbon dioxide?

§ 3l g alA (gl Sl b gl S BT 3 0 S ) s S o come dee (S S

A BRIRFIRE

A.Photosynthesis
Al Slua

B.XAM5 AN

B.Respiration
B.ositi Jae

C.3fifaafgHrur
C.Oxidation
C.2u&5 Jae

D.Siferd 3fqered
D.Hydrolysis
D. Sl o

Answer: A TBICIRIRIR™

A.Photosynthesis
Al Slua

111 "WRe TafAfHdi=n SHe" S wed Sa?

Who was called the “father of Indian Renaissance”?

o Ula s ol Sl S el alas e g



A XTSI THHEG
A.Raja Rammohan Roy
A s alymaly

B.GUM¢ TRl
B.Dayanand Saraswati
CRETEBREES

C.UASH. IS
C.M.G. Ranade
C.s)) (> o

D GR&ATY SToi
D.Surendranath Banerjee
D.c> i 3 e

Answer: A XTSI HARGH G
A.Raja Rammohan Roy
A 2 Gisealy )

112 576 <1 THUT Gl TRSAT?
The total number of factors of 576 is?

576 2 3353 (S 58 S

A.21
A.21
A.21

B.20
B.20
B.20

C.24
C.24
C.24

D.15
D.15
D.15

Answer: A.21
A.21
A.21



113 F. 6000 T TN fagh! wuamiash ! 3. 6500 AT At HedTd 10% 31 T gid). TR W=t
fhad @1er.

10% more is gained by selling a cow for Rs.6500 than by selling it for Rs.6000. Find the cost price of
the cow.

6500 e S CRY S &S 5 Sy (e sy 6000 Casesy U o3y @i %10 s S dg b £ & (e gy
w1 S B3,

A%. 5000
A.Rs.5000
A.Rs.5000

B.%. 6000
B.Rs.6000
B.Rs.6000

C.%. 5500
C.Rs.5500
C.Rs.5500

D g0t BIurag! et

D.None of these
D. up s

Answer: A.%. 5000
A.Rs.5000
A.Rs.5000

114 F. 2500 T IHHR 3 THINITST 5% TSl G WD AT PHIGT

Find the simple interest on a sum of Rs.2500 in 3 years at the rate of interest 5%

S pslae sS850 dgm w3 (SBY A _S ol 3 ams) 2500 @i S

A.375
A.375
A.375

B.150
B.150
B.150

C.250
C.250
C.250



D.460
D.460
D.460

Answer: A.375
A.375
A.375

115 Tt AT AT DI SIS 3HTe-
The “Valley of flowers” is located in which state-

= @& o Sl S el (S sl

A.STRRIS
A.Uttarakhand
A. 3gS )

B. S 30T HIRAR

B.Jammu and Kashmir
B. JwedS 5 ysen

C.IRD

C.Kerala
C. Al S

D.fer=d uew
D.Himachal Pradesh
D. G dale

Answer: ASTIRRIS
A.Uttarakhand
A. 3gS )

116 Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
Strong and unreasonable dislike or fear of people from other countries

A.Xenophobia
B.Claustrophobia
C.Amnesia

D.Aborigines



Answer: A.Xenophobia

"7 T FIITEAT 7 ATl Fraiaedl Aed. f{aear o= Fo9 e 9oy a9 D a7
= Teg F9a?

Three positions of a dice are given Find out which is found opposite the letter D) in the grven cube

- " - - z B . i
—en il U e S D L 58 tenster 8 _Gaal o8 salmed— o S8 0t i o —13 i
ot R — = s G Y — = 2 Rl £ o = s

G

A F

B.E
C.C

D.A

Answer: C.C

118 feder yafgite! aes o fRgsT:

Select the odd one out from the given options:

OIS e S Faa e e bl 8

A.MNER
A.MNER
A.MNER

B.BFLK
B.BFLK
B.BFLK

C.RTAC
C.RTAC
C.RTAC

D.GIKM
D.GIKM
D.GIKM



Answer: B.BFLK
B.BFLK
B.BFLK

119 LI WA T greTa GiF e faerdl g Sarem Hak A 30T B 3R g Y fa Sied.
%gﬁwmmuﬁn@a&mﬁwawﬁﬁwwﬁmﬁﬁuﬁwm&@w.
qJ Gdh TWeh 3o
T4 e fady SR,
fm:
A. BTa! Q¥ ey 3MTgd.
B. PIUAIG! We® TP g,

DIRECTION: In the following questions, you are given two statements followed by two conclusion A and
B. You have to take the statements to be true even if they seem to be at variance from commonly
known facts.

Statements:
Many books are rocks.
All rocks are clips.

Conclusions:
A. Some books are clips.
B. No rock is a book.

2 50 3 S o o K iy 50 S Gl OV e 3 aa il A gl Bl oy € clily S O o K
0 Sl e S 3l aglae y jshiale o5 81 S LS

by
-0 Ol ol )
R “T‘E O&% &

da:
A. -On QIS (S gas
B. = Ly QS (s (A8

A.SR s Tafg A 3Gy,

A.If only conclusion A follows
A pa AL U S 5o m

B.SR %des AT B ey,

B.If only conclusion B follows
Bl pa B . 2 B S ggm

C.SR Gl i A 3107 B 30y,
C.If both A and B follow
C.ussr A LIB-un SS 6o



Answer:

120

Answer:

D.SR Gl Tafg A 3M1for B 99«0y,
D.If neither A nor B follows
Ds~rAR~B- 22U Sssn

AR $dcs TR A 3.
A.If only conclusion A follows
Arsiicipa Al U S GoHm

Who is the Minister of Water Resources, River Development & Ganga rejuvenation of India?

o B8R Moy )l 55 ol s S Cler s

A JHT IR
A.Uma Bharti
A.Sle W

B.TH. O. MSH
B.N.J. Godkari
B.uSS = o

C M grgaq
C.Ramvilas Paswan
C.olsbh oY 50,

D.Qj?Q Yy
D.Suresh Prabhu
D.sen S

B.T. Il MSH
B.N.J. Godkari
B.s 8K = o



121 FoiId Weaid! el hHH TSN s Tl feaen ufauTgiaYyd Hivrdr gl %1 s &ia?

1. YA
2. 7idg

3. YT

4. 9U/TFH HHIG

5. 3REJUT

6. REUMITS! S/ Iucdsar

Which one of the given responses would be a meaningful order of the following words in ascending
order?

1. Travel

2. Destination

3. Payment

4. Berth/Sheet number

5. Reservation

6. Availability of berth/seat for reservation

$S 5 ati i Ha e S LU B aa aie SO L S (e Gl a8 00 (e i 5 s a5

1. 8w

2. J

3. Kl

4. s Cud [ g5

5. sl

B. (i S ol [ g A S &S

A1,2,5/4,3,6
A1,2,54,3,6
A1,2,5/4,3,6

D.6,2,5, 64,31
D.6,2,5, 4,31
D.6,2,5,4,3,1

Answer: B.2,6, 3, 5,4, 1
B.2,6,3,5,4,1
B.2,6,3,5,4,1



122 UUT T TS SIaaER 3ad §8 UgHd 3Ta:

The main pollutant responsible for Bhopal Gas Tragedy is:

dﬁ))LUA\AJDMJé;\A.}Luwugd\:\%_\

A fIUEd SRS e

A.Methyl isocyanate
Al Sl Jiine

B.SfHA
B.Bromine
B.oes 0

C. FRIRKRIHTa

C.Chlorofluro carbon
C.or8 sy 54K

D. AR
D.Chlorine
D. cnsK

Answer: A.ﬁ[?ﬂ'sf?“[ WWIEF?

A.Methyl isocyanate
Al Sl Jiine
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Answer:

T U URATA Ueh Y@ faeRiiad IR fau™ sigd Sui=araredt A, B, C 310 D 318 IR faer 3irgd.
HHAR faumh St faeT samed wud fau gu=an faumTer gaad, oiftr aiel faum afbamesear wia
faeread fAfed s

SR Hdl WRaed, R A d1 g9 fadwd o3, d-
A. T A S99 U Tdmal

B. T Al 39 U3 Xhd 6!

c. Mt ot 9 famd ugA

D. 1t @ §9 fded YUIR TGt

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

| will buy that dress, if | can afford it.
A. | can afford the dress

B. | can not afford the dress

C. I will buy that dress

D. I will not buy that dress

stia S Usdss Sluia el g R Sy bl S (63 ) e e lea e am Sea o alea Sl e Jlg p uly
op Githe S b S e Bhie e 93 Hl by S el gl (S alea £ g Abea Sy (L

Kot pudes 58 S35 gue Kl
Ause B S35 (a5 sa-
BUScs S L 3558 (s 05 (e

CR Ush 2a GuSos o -

D (53 G oS o5 o -

A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB

D.DB
D.DB
D.DB



124 faem:
Id X AT B RAT foRIYTd 3118, d AgH! WBRI YRUMGRIS drefdare UldTied Hdid, did ST
TeH! WHRAT YR AT Fd.

Hral H:
|. Td XaR s T,
I1. T XAT ARG TSl BRIl

Statement:

Channel X is against the present government. They always encourage debates on government policies,
their news always criticise the policies of the government.

Course of actions:

I. Channel X should be banned.

II. Channel X is should be charged with sedation.

ol
X mdnas e 0smd (S Ol egm SS SIS Aba s (S &y g gl e sSa adiar sy 0 GRS e iSa 03 g ge s
= S S ol e sSs

Jas Y-
X - ila n B iy s Jis
- X -l o & iy 5 Ja

ATHEd | 38R 3T
A.Only | follows

A Cipal B u &Y

B. T Il 3IRIRUT R 31T
B.Only Il follows

B. cima |l & 5 LY

C.UHR | fhdl 11 3FIRe 318
C.Either I or Il follows
C. LI 5 &Y S (e

D.I fhar 1| SEI0® HTele! SR HRd gt

D.Neither | nor Il follows
D. 1 osh I8 5 Gxd LY g2 (P58 s U

Answer: D.I fdaT 1| SEI0®! HTEIET SITIRN B ATa

D.Neither | nor Il follows
D. 1 osh I8 5 G LY g2 (P58 s U



125

Answer:

126

Answer:

Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Will you accept the position?

A.Will the position be accepted by you?
B.Can the position be accepting by you?
C.Should the position be accepted with you?

D.Have the position been accepted by you?

A.Will the position be accepted by you?

3R o ed aIeuik Ui Ted fagdn 3B

is when concentration of a substance increases along the food chain.

= e a0 gl S 358 S (S alse S n o ligy g

A S Fargeiasol

A.Bio magnification
A 0S8 sl

B.NT®w

B.Adulteration
B.o&

C.5id Vg

C.Bio adulteration
C.oiu A3 sl

D FdUS! Thg! el

D.None of the above
D.ox DS e O

A ST faxgdiaor

A.Bio magnification
A iSaion sl
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T S1dqul ufkwe Fafor sroarret, @ it (P), (Q) (R), (S) 30T (T) 8 Urd aTe aig SfIeh ™
T HT; AR ATeid T ST .

P. ASAMINTS! TGd GUATY SHTHT od IgR PIeal- HTYITAT SidgH Gudrdt faedr dal.
Q. MearR are fsfacar Rig dicalars! Sl ARGl 0T GraiHTR! W erdhdl.
R. &4 30T diegl § ard {3 Tl SHTard 3 NYTARITST ST

S. 47 RIGTRISR Dieg] 3R QIS0 MeaTe Bhadd U] TedTd usdrd.

T. SRTAT ST, iFT WIS ST UaTd] 308 died g 3rsSar Udl.

JRA HeHaR AU HIvd i giga SRa?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FIRST sentence after rearrangement?

ostes @l o) iy (P)e (Q)¢ (R)« (S) ush (T) wsllsm =8 20 2 sy o S o sy A S iy e b S
—anole S

P2 3sen ol G50 LS S jad 95 (SUSoaey o pd 5 s5al 2D,

Q. Wl S i ) oke A S SR llia o 5esl i e S jd il
R. =8 A S 533 UleS ae Kin e s3as) Dl s« 50,

S. LSl hS S S sl (S dla (S Sld S an She S63es )l el e
T, L Lila UleS S 350 0l 5a Sla jpd S 5800 ey s Jaa,

el doda oS S vy s

AR
AR
AR

B.Q
B.Q
B.Q

C.S
C.S
C.S

D.T
D.T
D.T



Answer: A.R
AR
AR

128 facicl srgaraad : g — 3M1f0r +, T 3HIdhs 8 3T 15; TR 15+ 4 — 8 7 T fabell 2

Given interchanges: signs — and +, and numbers 8 and 15; then the value of 15+ 4 — 8 is

=i (S8 —4 + 15 515 51 8 i ) ok sl - Aldle 1 dalg & i

A4
A4
A4

B.6
B.6
B.6

C.19
C.19
C.19

D.2
D.2
D.2

Answer: C.19
C.19
C.19

129 Choose the word which is opposite in meaning to the given word.
ALIEN
A.Native
B.Foreign
C.Overseas

D.Unfamiliar

Answer: A.Native



130 AT Tietd Uy fGden maiey Jefid sfeR/Rrsa/ReT Fasr.
JHRAG hed

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Apple :Fruit ::
.wﬁu&u)mlkﬂ/uﬁﬁﬂﬁacadahhc\gdd (e Jlsms 83 Aa i (e

Jear e 1

ASNET: a9
A.Shoe : Lace
Add U

B.frere ; ot

B.Teacher : Class
B.o2S ol

C.HM : IR
C.Neck : Collar
C.s: X

D.ferel: B
D.Lily: Flower
D.dse 1A

Answer: D .feret: Tl
D.Lily: Flower
D.dse 1A

131 TRTAT T Xa T [aSf /g DI ?

A8
B.HGTIHId
C. 1YY
D.HI3T

Answer: A&



132 S+ AET A AOMER HTE, x AR HY ARTGR 306, - AET Y S 3 0T 2 g
HY TAEIERT 378, TR @reitel THEIUE 3 1 3187?

If "4+" stands for multiplication, 'x’ stands for division, '-" stands for addition and '+
stands for subtraction, what is the answer for the following equation?

L'l_;_'_._-a _,_-.'_.x_' ’d_éﬂ oL -L_.a-_: gLl alia 'a_'E 5 __"-,:'_Ja‘_: S _;_5.'1 e gd alia ,:ni"'j = R u! - alia .3:'5 = P}-—f—' %' A alis P—'E LS s 5 o4 _}gl'

(LI _<._ K
20-5+18x (3 +2) =?
A. 20
B. 18
C. 108

D. 22

Answer: D. 22

133 Out of the given options, choose the most appropriate one to fill in the blank.
A crow a piece of cheese.

A.stole
B.have steal
C.have stole

D.has steal

Answer: A.stole

134 IS Urd THTIARISE 31T UbRa! 3Nesuard Jdrd

Big five personality traits also known

= Ul Ula e e ol Gl S Clpm ead (S Claadld 650 &l

A.UTd e 1] HfaaHtd
A five factor personality
A. el yalic Fl



B.UTd WAl fdkitd
B.five famous personality
B.Cuadd ) sl gl

C.UTd Ych T
C.five factor model
C.JS yaic &l

D."chid favayo
D.factor analysis
D. m)23\S yaic

Answer; C.Urd Ycdh JH-AT
C.five factor model
C.J5 yaic &b

135 A $S SIC GRIgH B WUITA “g3N TS o1 HIST 354! ¥aid de o610l 318.". A d B Wiad Ad B 35?2

Pointing towards A, B said “Your mother is the youngest sister of my mother”. How is A related to B?

A 55808 Gk S0B 2 o B S U e e S " LS S AS B e A LS

A.Dd[D]

A.Uncle
Al

B.ddd HIS
B.Cousin
B.a) e

C.gdudi
C.Nephew
C.li

D.dsd

D.Father
D.¢b

Answer: B.ddd HIS
B.Cousin
Bl las

136 “ T HT3] 8T WA ..’ T JTTdId fa=IVoT 3fiesaT.

AHAT



B.hI]

C.dsgl
D. W11
Answer: B.dhId3T
137 Wit el ea 3osar,
AJSH
B.gdT
C. g4
D.a3d 9d
Answer: D.Hﬁa ﬂa‘

138

AT Wiellel Ye=lid Ueh SHsciell BT GRAfdell 316, 3TRiedl YdiriddT Siordr wai o ar
regrear favge areten A5er?

DIRECTIONS: In the following question an unfolded dice is given. From the given alternatives which
of the following will be opposite of « 7

o 37 jdia ;;:gff_[_,u as e Valia f_C,-.ff_EsJ - Lf La 3;_.—5 |_g.= M Jl aa JI_g..uJ Jia ATy H M P

?'.T_g.?uuiﬁ).g-’_nj
0O
1{2|e
O
3
A 2
B.3
C.1
D.o

Answer: C. 1



139 3 d 11 A 43 Qg 3MfOT 15 M 20 TR 30 e TRt IS B
Add 3 hour 11 minute 43 second and 15 hour 20 minute 30 second?

3 s S B 30 Gie 20 A& 15 g B8 43 e 11 i

A.16 a9 31 fafAe 13 Abg

A.16 hour 31 minute 13 seconds
A 16 350 13 Cuie 31 23S

B.14 d/g 21 fife 73 Ydbe

B.14 hour 21 minute 73 seconds
B.14 35 73 &ie 21 il

C.18 a9 32 fafAe 13 e

C.18 hour 32 minute 13 seconds
C.18 L8 13 i 32 A3k

D.18 d 31 fafae 73 I

D.18 hour 31 minute 43 seconds
D.18 55w 73 &uie 31 A2l

Answer: C.18 9 32 fafAe 13 A
C.18 hour 32 minute 13 seconds
C.18 5 13 e 32 ik

140 TR A EIRELIBICIH

Harare is the capital of -

= el ol

AT

A.Zimbabwe
A S o sl

B.gSl
B.Uganda
B..S 155,

C.HIRAT

C.Tunisia
C.S Lo



D.dI{3{lg

D.Vanuatu
D..S 555

Answer: A.%IW@

A.Zimbabwe
A.S o sl

141 G T T[UTR 4:5 31T 3101 i H1d! 8 3118, R T arat BIal?
The ratio of two numbers is 4:5 and their HCF is 8. Then their LCM is?

f oW al udd SO og-=8 @l g S0 s 245 ulilS gy 5o

A.130
A.130
A.130

B.140
B.140
B.140

C.150
C.150
C.150

D.160
D.160
D.160

Answer: D.160
D.160
D.160

142 S1 e ufgel fRigieb gl

is a first teacher for a child

e g A S

A.3TTS
A.Mother
Aok



B.faar

B.Father
B.<b

C.RITe5d Ufga fRigidh

C.First teacher in school
C.plae Sy I8 J 55

D. 3{ToN-3{TSATaT

D.Grand parents
D.ala lala

Answer: A.Gﬂ"a:
A.Mother
A.o

143 Tao=ar 3eser Ae /e TET HI HR?

What is the number missing from the third target?
oS ol L8 A S plas s

4 5 6
1103 2(14)4 3(?)s
2 33

A 18
B. 45
C.35

D. 53

Answer: A. 18

144 I TIetd Uy fGden maieyT e sfeR/Rrsa/ReT Fasr.
ji&l?ﬁ:i'ﬁﬁl?[::Gi:l_cr‘-?lm:?

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Geometry : Maths : : Biology : ?
.ug‘)sg_z;.\u)m/.bﬂ/&_e);/\ﬂaﬁn:mdab&\:\gda (e Jlsms 83 Aa i (e

VN PY PR P T - AP TN



AT
A.Geography
AWRCIBEES

B.da

B.Behaviour
B.sbn

c.fagm™

C.Science
C.uiu

P
D.English
D.s x5

Answer: C.ﬁﬁﬂ?

C.Science
C.outl

145 g =Y
8451 + 793 + 620 — ? = 6065 + 713

Simplify:
8451 + 793 + 620 — ? = 6065 + 713

ol salas
8451 + 793 + 620 — ? = 6065 + 713

A.4912
A.4912
A.4912

B.4712
B.4712
B.4712

C.4312
C.4312
C.4312

D.TUH! PIuIE! gt

D.None of these.
D. o &S e 0.

Answer: D.0e! ﬁwﬁﬁ :ITE?I

D.None of these.
D. b &GS —wom O



146 'OBSTETRICIAN' URIT WeTdl eqiUdh! HIUId Xeq daR Bl O3, Xahd ATaid?
Which of the following words cannot be formed from 'OBSTETRICIAN'?

Lai S e Bl D a5 'OBSTETRICIAN' € = Ul Wl (b s

A.SOBER
A.SOBER
A.SOBER

B.TERMITE
B.TERMITE
B.TERMITE

C.RETAIN
C.RETAIN
C.RETAIN

D.SIREN
D.SIREN
D.SIREN

Answer: B.TERMITE
B.TERMITE
B.TERMITE

147 TRt SRS a1 HIvTd ?

A 3THHT TTTaTd diol 3MTeft Toga.

B.URd AT Id3 3R SITeiell 319,
C.fecam sty I9eR T 3MPHye de.
DTS YT gololaes 3718 SHUIR 3.

Answer: D.UehT HIU=ATd Joolaes TS SRUIR 33,



148

Answer:

149

G HiSt A 3101 B Ted g8 SIfO1 uruara flyor offe. ufgedn Hisaaed (TgUre)) A Hisdmaed ¥ 311 urvard
TUIRR 8 : 3 3T ST gO=aT HiSAHe TgUTS! B HiSaTHed g8 3101 UTuaT TUIRR 5 : 1 T8, g8 SIor
UT0gT T[UNR 4 : 1 GIUATI3Y A1 G HisHTHYA 35 fefer &l sreid Ui U el T "A" Higaray favdi!

feTex ddd SIIaT 4.

Two vessels A and B contain a mixture of Milk and Water. In the first vessel (i.e) Vessel A has the ratio
of milk to water is 8 : 3 and in the second vessel, Vessel B has the ratio of milk to wateris5: 1. A

35 litre capacity vessel is filled from these two vessels so as to contain a mixture of Milk and water in
ratio of 4 : 1. Then how many litres should be taken from the Vessel “A”.

G A D B in () G e on dailie ;S e S SL sl 8000 A 2 g Hsl 2318 i lS A Hl JL e
GBS G )l a0 A8 el e Us e U5 053 O R Vs a8 (S S35 . 1 1 5l IS A58 (e Sl e
G 2 S ol 1 kAT o 31 ) S

A1 fa1.
A11L
A1 Al

B.12 fa1.
B.12L
B.12 jil

c.ofa
coL
C.9 Al

D.10 for.
D.10L
D.10 il

A11 fa1.
A11L
A1 Al

UM (3SacIag) TN SFNA (S I®) UGl — ALl IR aruRedT ST

Inductive and deductive methods are popularly used in—

= Usie (e - JlexiallS sk g8 ) g3

AT fRisaul
A.Math’s teaching

Apds S (o2l
B.XRd a0l

B.Science teaching
B.adai (S il



Answer:

150

Answer:

151

Answer:

152

C .1 fRIemau

C.Grammar teaching
C.aulei (S 5l £

D.a}d 9d
D.All the above
D.alsi o 5S3a

D.a’d 9d
D.All the above
D.alsi o 5S3a

—)

(6X6X6)+(2X2xX2)

i ™ i b i -y
(6X6)-(6X2)+(2X2)

A5

B.6

Out of the given options which best expresses the meaning of the given Proverb?
A rolling stone gathers no moss.

A.People who are always moving, with no roots in one place or another, avoid responsibilities and cares

B.A person who always travels and has no fixed abode is always eager to accept the responsibility of
others

C.A person who always travels and has no fixed abode is always ready to provide shelter to anybody
and everybody

D.None of the above

A.People who are always moving, with no roots in one place or another, avoid responsibilities and cares

Choose the word which is most similar in meaning to the given word.
RELEVANT



Answer:

153

A.Applicable
B.Unconnected
C.Unrelated

D.lnapplicable

A.Applicable

T Wed AIfgc dleodds ardT JTOT WTelid Jeie 3 &

P.Q,R,S, T,V 30T W T Ird JeHrl 3med. Qieard i+ faenff, < e enfor 99 wganh agq.
q T AT AR BTH HRdTd- |, 11 3107 111, Ud® TTeTd U faemdf 3nfor fosmm ve Rier fhar uew
Tganh 3mg. s g faemef e Sfdr dr p Jied 111-a7 TeTd 3R, P 8T YgaNTt 3. | <1 TeTd haes T 3Nfor
%W%.VEWﬁQWWW,@WWWWH@. fRre/e W, R Oied &1 Hd
SR Gl 1T 791 TTeTd RIFTARId dd Id d¥, DIl Terd W HTH Hd?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, VandW are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group lll with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

If both Lecturers are transferred in group I, then in which group does W work?

o Dl S sl 8 o sl g5y e e S el i an ke iy

PeQeReSeTeV sl W it o5 -0m (islaa 50 ) HoaSal 50 cale il 0w (e 0 -0 oS 0 s (el SO

G R eIl L) 10 stae Sl b HoaSAl 01 oS oS sl ale il SOl ae 5 8 o S8 AS (e S 1 e il S
G 8 s Il ae Prs 8 stan 1 pmis - 2 Oslae SO sa e il S Gipa e T o2 el S Ve ale il S Q gl S
2 S USAEW st 2B gy S il SWeR . 2 US i oS gl S

G R oS Usiss S Le s oils 0 S Jiiie e W S 2 US S (e 5 8 (S

AHde |
A.Only Il
Ao

B.$da |lI
B.Only Il
B.ci e Il

c.Ilfdar
C.llor Il
c.luln

D Tt} BIurcfigt el

D.None of these
D.ow 258 = o O



Answer: D.EITaﬁ ﬁ'ﬂrcﬂﬁ :ﬂﬁf

D.None of these
D.ox 255 = U O

154 AR TS A afddda 3

For a Layman personality of a person is

A T IRINSG TUq

A.His physical appearance
Al Slewa S o (@ppearance)- =

B. T gfaHal TR

B.His intelligence level
B.-= i g (S ild (S )

C. =T @<= 3
C.His colour of skin
Copm 5 &8 (S 2 5aa S

D.(a), (b) 30T (c)
D.(a), (b) & (c)
D.a<b sl c uss

Answer: AT IRING TU

A.His physical appearance
Aol Jlewa S o (appearance)- =

155 LI T uyiae fociedn qatardeT Jeiftid sieR/Rsca/Rem ST,
TYATRM : TS : ; Tl

DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Bee : Hive : : Horse : ?
_wﬁumu)w/kﬂ/u);w:»ddbhfgda«u;md\)ud.\.\,s;‘)mC’_\Au

15568 1 1 Nign ot (S 3



AR
A.House
A&

B.UNI/ <o
B.Table
B.

C.dsdr
C.Stable
C.dihal

D.IR¢
D.Nest
D.ALui 568

Answer: C.dsdl
C.Stable
C.dibhwal

156 T WTeliete! e UHTd, HfcrbHeid Ud WReaT Jobia 3. I o TSt Qe
2,3, 9,27, 112, 565, 3396

DIRECTION: In each of the following questions, one number is wrong in the series. Find out the wrong
number.

2,3,9, 27,112, 565, 3396
S S ke | odale 5 G e Jlse oy il

2,3,9, 27,112, 565, 3396

A.565
A.565
A.565

B.9
B.9
B.9

C.112
C.112
C.112

D.27
D.27
D.27



Answer: B.9
B.9
B.9

157 el THHRUTE I HleT:
2143.120 + 1629.01 — 1863.0021 — 218.1008 = ?
Find the value of following expression:
2143.120 + 1629.01 — 1863.0021 — 218.1008 = ?
WS psbre e (S Ol sbae B3 7

2143.120 + 1629.01 — 1863.0021 — 218.1008= ?

A.4261.6211000000003
A.4261.6211000000003
A.4261.6211000000003

B.1521.0119999999999
B.1521.0119999999999
B.1521.0119999999999

C.1691.0271
C.1691.0271
C.1691.0271

D.1844.2861
D.1844.2861
D.1844.2861

Answer: C.1691.0271
C.1691.0271
C.1691.0271

158 fedear yafgite! aes o RgsT:

Select the odd one out from the given options:

oS edtie € S o e ope bl K



Answer:

159

Answer:

AT
A.Spoon

Az

B.Igal
B.Basket
B.sSs

cwe

C.Plate
C.cul

D.arg?
D.Bowl
DALy

B.eITah
B.Basket
B.s Ss

AR (SATZ" T JIABTd TGS DI Ted?
Who is the author of the book “Life Divine”?

U Cias S ol 8y K

A 3(afIgTY TRIR
A.Abanindranath Tagore

AL SE &y

B. % faa@Hg
B.Swami Vivekananda
B. il g5 () g

C.3Rfsar O
C.Aurobindo Ghosh
C.UiseS 525

D.gi0ah! BHoft ATE
D.None of these
D.oxd 28— el

C.3Rfder gy
C.Aurobindo Ghosh
C.UiseS 5au5)



160 oL TRTE YA Scaidid Ta@ET ST T4/l AHdia TeAHT AHdl Aadg e?

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

— in_.w:_a..::;;,ﬁyu.:au.##f;i;u}d}ﬁﬁ' gl ‘_;-r._,.a;'-‘___ u_a_.:'-.f:u Al
A 1 2 3 &

A1

B. 2

C.3

D.4

Answer: A.1

161 AR WTelier Ssaieh SUoh B IMIIAR AISUR &,
(1) Spruce

(2) Spume

(3) Spree

(4) Spurt

(5) Sprawl

DIRECTIONS: Arrange the following words according to the English dictionary.
(1) Spruce
(2) Spume
(3) Spree
(4) Spurt
(5) Sprawl

(S e S B (1) e Gillae S ikl (5 3 K31 1wl

Spruce (1)
Spume (2)
Spree (3)
Spurt (4)
Sprawl(5)

A5,3,1,2,4
A5,3,1,2,4
A5,3,1,2,4



B.1,2,3,4,5
B.1,2,3,4,5
B.1,2,3,4,5

Answer: A5 31,2, 4
Ab5,3,1,2,4
Ab5,3,1,2, 4

162 faemff-dia gsa woe—

Pupil-centred method means—

S b € 8k e CyiS e (S S

Afaenff-Fdta Rreauarh ugd

A.Pupil-oriented teaching method
AN b e g Ol S Sle

B.9Td-THY Ugd
B.Child-supportive method
B.~Ai b o stae JUial

C.gaugqaauu! Rt
C.Liberal learning
C.LigSams ilal 3l

D.ad 9d
D.All of the above
D,ebﬁ DJ)S;\A

Answer: D.Gﬁ?ﬂ'ﬁ‘
D.All of the above
Dlew DJ)S;\A
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Answer:

164

TugTare UToft It AITAT 4T udTd

Aquatic animals breathe with the help of

R C..‘:‘S ol o Qe S STBTEN L-;J

ATHGH

A.Lungs
Ao Sene

B.dd
B.Gills
B.. 35X

CAHAlh
C.Nose
C.<su

Ddis
D.Mouth
D. ~ie

B.3gad
B.Gills
B.. 5eX

Ta: fediea wafaimeyr THan e HasT.
IMRRATSRET Aot SRR TTATRM MR ST SHeldoRedT ey .. Ti9d 3R,

DIRECTIONS: Choose the analogous word from the given alternatives.
Anesthesiologist is to Administration of anesthesia as Dermatologist is to
oS el 1S Ladl gillae w Jolie 81l

el S ememeee S a1 gila 53 S L g3l S apalaiil psgiot) o (3la3 o Loy 5 1S s gl gusgiiandl,

B.T&™ T
B.Children
B. s>


www.youtube.com/c/BADSHAHimp

Answer:

165

C.cgdl
C.Skin
C. s

D3l
D.Eyes

D. s

C.cgdl

C.Skin
C. aa

T TR fedied TTd U fIuT 3118 SaTe! | Sf1f0 1| 3R S s el sifdbd betet M. a1 SuR
Haid g ugia Has.

faur:

SeH T WA WRIGH U AgHY A BHig- di- awd a1 . 3iTol JTel IR ArATd
SR SfRTATITCT I3 e 3MTe SO AT 00 R SICRUS SR IqbH A6 MEIATS! G-
el 3Tg.

fm:
|. SiTelT 3Rahd 317G
II. SiTell o[y 31Tg.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and II.
Based on this choose the option that is most suitable.

Statement:
Joby launched Market Lane from a small office in his own apartment. Today the success has sparked
his charitable side and he has given over USD 200 million to numerous causes.

Conclusions:
I. Joby is from the USA.
II. Joby is a miser.

5 amy S 0l SO e dlsme 8 o e il | ) [ - e A S ) 535 Sl ay (S Gl o K 0

.l_u.
o=
J}\WC\S;B\MLAJ\M\)Nwm\:kngﬁciQSJLGY\SU.JQ:\SJLACNJSSACMCJT)@%J&\WQEJXSJQ\C\:\\:‘f);
O i I8 (S sl 0ale 200 Lz s die g i S,

R

| = o~ Bla3 S s
Il = oS s



Answer:

166

Answer:

A Faes et B | UM SrEe 3R

A.Only Conclusion | follows
A~agii Cipa | & 5 KY

B.%ac 5hY HHi® || [AUM SraeH 3ig

B.Only Conclusions Il follows
B. rili Gijea Il S 5 S

.y woiw | fdhar 11 srgas 3mg

C.Either | or Il follows
C.lILIE 5 SY S e

D.HIUIATE! Feep 3FeRe Tet
D.Neither | nor Il follow
Dol os -8 5 KY e SS — e

D.HIUIATE! By SR gl
D.Neither | nor Il follow
D. 1 osh 18 5 e Y 2 SS  e

AT JTS[eT AT a¥gad vaiftd Smeiet ufaar — ifgen oird

The article’s image projected through overhead-projector is seen—

= S 85 sl S ISl 00 S i a3 S a5 s

A T ATATR
A.On the head of the speaker

Al e S S

B. kT HIYT 3101 AR STo[aR
B.On the head and backside of the speaker

B.or e ey o) om S Sl
C.USHTaR Wil |7 101 AT Sear

C.On the head and backside of the speaker on a screen
Coon s om0 om S S oy e Sl

D.aUb! HIvIdE! ATg!

D.None of the above
D.od 2S00 s

C.USTaR Wbl HIYT 0T At STefaR
C.On the head and backside of the speaker on a screen
C.op o e 05l e S Sl (Sl
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T ool ufvwse Ao sxuamret, @re faadd (P), (Q) (R), (S) SAIfUT (T) B UMd A Iy SfIeh M
T BT, AR ATeid Wi ST .

P. ASAMINTS! TGd GUATY SHTHT od IgR PIeal- HTYITAl SiidgH Gudrdt faedt dal.
Q. MearR are fafacar Rig Picliars! 3ol ARGl 0T GraiHTe! W erdhdl.
R. &4 30T diegl § ard {3 Tl SHTard 3 NYTARITST ST

S. 47 RIGTRISR Dieg] 3R QIS0 MeaTe Bhadd U] TedTd usdrd.

T. SRTAT ST, iFT WIS ST UaTd] 308 died g 3rsSar Udl.

TREAT FedHaR WTetedes! HIod a9y 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FOURTH sentence after rearrangement?

ostes @b O iy (P)e (Q)¢ (R)¢ (S) st (T) wslsms =8 23 3 e o iaad i jio sy Al Sl o Jima b S
R els S

P 3sen ol G5 LS S jai 95 (SUSote s pud 55050 (2D,

Q. b e S i ) ke ) S SR _lliia o s5esl el e S jad il
R. =8 A S 533 UlS e Kin e 3as) Dsl s g 50,

S. LSyl a8 S8 Sl )5l (S dla (S Sld S ad She ST )l a5
T. e lls UleS S 5390 () o Do Ll Q) 5500 ey ila S,

S e Uslgism alaa lu S 2 S v anyio jusa |

AS
A.S
AS

B.P
B.P
B.P

C.R
C.R
C.R

D.T
D.T
D.T



Answer: A.S
A.S
A.S

168 faRIYTd 319 [R1d 3R] IebaT [AYRT S0l

A false belief held despite strong evidence against it

os P usS Qsfibgae o S0 Sol e ode e 03N S bl

ASTHTY
A.Hallucination
Al

B.YH
B.Delusion
B.~ Lkl

C.AJB gl
C.A to B both
C.a Lsb usis

D STUIeR fSwsiieR (fgydta faenR)
D.Bipolar disorder

D.o A (ki 5

Answer: B.YH
B.Delusion
B. ks

169 413%x40%x18 = ?
413%x40%x18 = ?

413x40%x18 = 7?

A.297306
A.297306
A.297306

B.273960
B.273960
B.273960



C.297360
C.297360
C.297360

D.293760
D.293760
D.293760

Answer: C.297360
C.297360
C.297360

170 fewr: Tl U auf A1feis Aed, BTt 31&R 8T 3Med, o TTal! fededr uatai Hel Tt M fedielt
3Ted. Iy yaig fAgs.

cccbb -aa -cc-bbbaa-c

DIRECTION: In each of the following letter series, some of the letters are missing, which are given in
that order as one of the alternatives below it. Choose the correct alternative.

cccbb -aa -cc-bbbaa-c
i MR s e SRS K n i o2l i gaS e g S im0 i iy

cccbb - aa - cc - bbbaa - ¢

A.acbc
A.acbc
A.acbc

B.baca
B.baca
B.baca

C.baba
C.baba
C.baba

D.acba
D.acba
D.acba

Answer: B.baca
B.baca
B.baca



171

Answer:

172

Answer:

173

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.
She was completely_baffled by his strange behaviour.

A.Confused
B.Assured
C.Convinced

D.Peaceful

A.Confused

Tord dlg—
The rusting of iron—

Sy S o

A.Td o gcad
A.Decreases its weight
A& S s S

B.d/ g dlgdd

B.Increases its weight
B. o il S S

C. g\ /T

C.Remains same
C-c-) ‘-"w I

D.GRTAT Ad T8! (3{ETS A Aaugraig)
D.Can’t say (unpredictable)

D. 58 G L) 8 ~S (g 42S)

BT a5 digdd
B.Increases its weight
B.o il S o)y S

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Florescant

B.Fourth



C.Frantically

D.February

Answer: A.Florescant

174 AP &g 3 fAiEd oo o

The incentre of a triangle is determined by the:

2 Bl LS (i S il S Sl

AHH
A.Medians
Al

B.®IF gHISdh
B.Angle bisector
B.rsl) Canati b

C.Jd gHISIDh
C.Perpendicular bisectors
C.inaii b shi (5 sec

D. 3t

D.Altitudes
D.obaib

Answer: B.&H gHISIh

B.Angle bisector
B.rsl) Canati ba

175 fede yaTgitet aes o st

Select the odd one out from the given options:

1S oddie € Faa o e gpe il laa) K

A-C
A.Nut
Al

B.Wic

B.Plate
B.cul



Answer:

C.CIR
C.Tyre
C.&

DTSt
D.Bangle
D.s3s

B.&ic

B.Plate
B.oub
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AT & faeT SfoT AR IR w1, 1, 11 3foT Iv S eirea. 8 faem™ arH=aa: Jd axgfRucioen s
3t T T 3HTed 3 IS, fediearia! Hiurr s fidedt fauTias aw! dTedl 33 Thal § arl
%W%rﬁ 3Te. T IR Jfrd B

(a)ﬂé‘nﬁﬁ‘s’&n%?r.
(b) PTG! T8 AR 3HTed.
e

|. Te! g ard A8ld.
II. T4 arg Rig 3.
|1l F1e! arg g sied.
IV. 99 AR 979 312,

DIRECTION: Two statements are given following by four conclusions, I, Il, lll and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) All peacocks are lions.
(b) Some tigers are peacocks.

Conclusion:

I. Some lions are not tigers.
II. All tiger are lions.

[ll. Some tigers are lions.
IV. All peacocks are tigers.

uﬁM#Q}A%J\&AEMJJ:QQ\q_ Ille T L) |V_QL\1.3¢}U'4.ACL:SJ/\%)§\ sdu}umﬁdﬁﬁ“a};%).
L) D0 e Sl s o WS LRI ) sk i e e 0sadd 8 0 S Qg (S S s lis ol
o RNl s,

Ol Ll
= o s plal,
= o S es

o

| S o S S
Il = osd S ol

. = d s eSS

V. = Sy ool

A.Fde sy 11| o)

A.Only conclusion Il follows
A 25 Jl ] o BS Gilas

B. &g ey IV fFedr

B.Only conclusion 1V follows
B. zli J& [V o b S cilas



Answer:

177

Answer:

C.Fae fsny | fear

C.Only conclusion | follows
C. s & | 3 1S el

D.&das fasey 1 fFear

D.Only conclusion Il follows
D. zli Ju ] o UGS il

A.Fde sy 11| o)

A.Only conclusion Il follows
A 25 Jl ] o bS Gl

ST T T TAIC Jd SIadHT 3eWsd 318, 3o [aanif TaHHaun I Ip1 Hd 3ied. ar =1
R T8t BT Hell HI?

When a child is stammering in your class, the students collectively make a mockery of him. What action
should you take in this case?

LS s S LS 58 Gl Gae e (ol 0m 508 (310e 1S Gl )b el ale Gl 8 ¢ o S0 ~ae S e DIS (S Gl
¢ _Ala
=%

A I T AU e ot

A.Giving collective punishment to the class
Al | elaal S S

B.Jad-aINTaR TR 01
B.Giving lecture on speech-defects
B.lus paSal iy S 58

C. farmatar vee ot &1 Ufa®Td SR HIoi AT 99T el IR diesdd o qRTdl Haaul

C.Suggesting the student if anybody make a mockery in future, he immediately report it to him
C.cd ena g3l (S Gl sk s esi 131 (310 (e ifiess (568 RV AS (o 3oy sdie S ale illla

D.faematar favy Iu=R H0v

D.Giving therapeutic treatment to the student.
D.U1s S kel 8 S ale il

B.dad-GINTdR RS ¢Ul
B.Giving lecture on speech-defects
B.luy saSdl y pailss S 8



178 5 feaaiard! 10 ARRAN 37 5. 1250 318, SR TN ¢Hd dd- § Afgeredl Ja-TedT gue 3Rid. @ 3.
1600 HHAVINTS! 8 feadiardl fard GEui= TH HR1d?

Wages of 10 women for 5 days is Rs. 1250. If daily wage of a man is twice that of a woman. How many
men must work for 8 days to earn Rs. 16007

10 o8 sl 8 5. o K s (S50 65330 S A0 S 20 S 2 22901250 G5 e S 05 5 S usiose
$ ) S _S1600 8 5 nLSaS (08

A5 TN

A.5 men
A5

B.8 T&Y

B.8 men
B.8<

C.4 q&Y

C.4 men
C.4.0Y

D.6 &Y

D.6 men
D.6<)

Answer: C.4UxY
C.4 men
C.4.2Y

179 T W TR, AT TR AEEEy S s
DIRECTIONS: In the question below, select the related figure from the given alternatives
S A g e ALaEA e ot YNGR S 8 e Sl S 3 aSUlA

e

Problem Figures
Dl&la] -

Answer Figure

DR 14|




180 o, e aaTaEys Aot qof ot @ st fes

DIRECTIONS: Complete the sertes by choosing night figure from the given choices.
— il

S T, T Tt LG S
J.umm:d.fﬁmj.d:_mzﬁgr;:ﬁwa_ml

Problem Figures

i-" Ol.'.‘r" -tﬂ:if.}x &
(4} ) feh {d)
A. (A)
B. (B)
C. (C)
D. (D)
Answer: B. (B)
181 * JFTITAY * T YeaTd! Heft T,
A.SHIT + T
B.3AY + &g
C.3M1Y + 3Ty
D.3HTY + 3Tl

Answer: D.3Y + A



182 6x2 + 77x + 121 = 0 IT FIHIHRUM & TR :

The roots of the quadratic equation 6x2 + 77x + 121 = 0 are:

6 sy S @l s mpex?+ 77x + 121 = 0o

A11,7
A1, 7
A1, 7

B.11, 11/6
B.11, 11/6
B.11, 11/6

C.-11,-11/6
C.-11,-11/6
C.-11,-11/6

Answer: C.-11,-11/6
C.-11,-11/6
C.-11,-11/6

183 <A St TR AT HIT 31522
Who is the Chief Commander of all the three forces?

€ = OsS LTS Gy S sl s

ATITH.
A.P.M.
A. abe) )

B.Irs¢uat
B.President
B. »a

C.R&f0r T3t
C.Defense Minister
C.gl s

D. Y] HHAR T E

D.Chief of the Army Staff.
D. Gl o) Gl caa,



Answer: B.TI'QA'CI?ﬁ
B.President
B. ra

184 HTHTA TN 3/4 AT ATl QT d3UEHT 2 I OIRd 9 ANTal. fordl Yy 9 Hler?

Walking at 3/4 of her normal speed Shweta takes 2 hours more than the normal time. What is the
normal time?

LS iy asee o S odl) 382wy asae ul lhgd g il JU8, j8 S _as3/4 S L) (S Jsene
.
=

A.4 d™E
A.4 hour

A4 =&

B.5 dI¥
B.5 hour

B.5 el

c.6d™g
C.6 hour

C.6 =

D.8 di¥g
D.8 hour

D.8 =k

Answer: C.6 dI¥d
C.6 hour

C.6 —ues



185 HEAT. T WA Sealidid TEETST SIOTedT TIH™T ATHAT FeAH AFHET ATHF AE?

DIRECTIONS: In the given questton find the answer figure 1 which question figure 1s embedded.

—:.-,._..‘;._.w:' -Il.-.:l‘l“_;"

"L—Mu.;‘l--'s- :-‘j\:l‘ii‘ :

=3 Jis B S 3 _,:3"5‘:_;_?--3""._,"'5_.-:“"3'-.’_—"' e
]
{a) &) [=] (ch
A. (A)
B. (B)
C. (C)
D. (D)
Answer:  B. (B)
186 SIHTA A —
Yawning occurs —
= s Sl
AT CO, =1 ffafkad Tgd diaades

A.Due to excess concentration of CO, in blood
Ao O5n CO2 s a5 (S Gl i saly ) —was S

B.pUHHHE CO, AT e Hgd digayes
B.Due to excess concentration of CO5 in lungs
B.ox usee CO2 = ~ma s (S (plu i€ saly ) —w s S

C.IFIHE O, AT AR Tgd digdqea
C.Due to excess concentration of O, in lungs
C.ux usene 02w ras S Gl i€ oaly ) e 2a S

D.aT0! Thg! gl

D.None of these
D.uxd &S 0 O



Answer: AIFHE CO, =T HfdRad Tgd daages
A.Due to excess concentration of CO, in blood
Ao 05n CO2 s mas (oS (i i€ oy ) was S

187 AT Wrellel 92=1d eRid el YAt S1oTcar A Aehdid 9e=Tdiel Hhdl Jdeld 36?

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

LS Lo 58 pusuas oS Jlgus g et oS ol 95 s lly oy ol 2o o Jloas 2865 233 1 obls

X) (&) ®) (C) (D)
A. (A)
B. (B)
C. (C)
D. (D)

Answer: D. (D)



188

Answer:

T WTdd HIfgd dlIeiydd ardm T @eitd Tt 3 m:

P.Q,R,S, T,V 30T W T Ird el 3ed. Jicard di= faenif, <9 e enfor g9 wganh eed.
d i TATTeET TetH HTH HRATA- |, 11 T 111, U TTeTd U faedf snfor feam ue e fobar ue
Tganh amg. s g faenmeif eme Sfor dr p Jiad 111-a7 TeTd 3R, P 81 GgaNTt 3R, | T TeTd dbaes T 31for
GIRT gt 31mg. Vv 71 faemdf Q died @ &xdl, St W Iiad &9 $-d ATel. 1&g W, R Ii9d $H1F Hd
gl

WA IeTieh! HIUT SiSld G I8 3ciar?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, VandW are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups |, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

Which of the following pair expresses two Lecturers?

o e SOl K o a5l o5y e 0 S laslae J ke iy

PeQeReSeTeV sl W aline oo g - Oistaa 53 55l Sl 53 qale allh (s e O -0 £ 1S 0d Gls (e Jliass SO

G S eIl sl T -0 Gsbae S L DaSal Sl oS oS gl ale Clla Sl (e @5 8 ow S8 aS (e S 2 ale il S0
G 8 O3 I e P s R Osbae | pmisd - (stae S s e il S| Gipea (e Tz el S Ve ple il S0 Q el S
s 68 ASW a5 G S s S Wi R - 8 o S e S

f oSS il S a8 0 o5 o S e e dd a2

APW
A.PW
A.PW

B.PQ
B.PQ
B.PQ

C.PR
C.PR
C.PR

D.QW
D.QW
D.QW

D.QW
D.QW
D.QW
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Answer:

190

AT Wreltel 92aTd, TEorean g Ariae qemom 3 faas.
DIRECTIONS: In the question below, select the related figure from the given alternatives.
- Sinia i aplaie s g s ¥obia 2 62 555 e Jlgus 245 Jis ol

Quesﬁun Figures mnswer Flgures

T TIR|E[E

Ay ® © @O

EiN:Ed

YT YIT: Weltd HTferesT Juf H.

1L2, 1M3, 1N4, ?

DIRECTION: Complete the following series.
1L2, 1M3, 1N4, ?

- S daSe S 3 dd e paiercyly S J) s

1L2, 1M3, 1N4, ?

A.105
A.105
A.105

B.2TO
B.2TO
B.2TO

C.105
C.105
C.105

D.1L2
D.1L2
D.1L2



Answer: A.105
A.105
A.105

191 g1 e fhar 3ifdies aaadi! SAfoTd TuTelt 31T

are organized systems of two or more individuals

.queﬁuweLJAMﬁd\)ﬂ\.\:\\‘)bJJ

AT B0V
A.Mob
Ao

B.&fId

B.Audience

C.qq8
C.Group

C.es X
D.1cf

D.Crowd
D. 5

Answer: c.dqe
C.Group
C.es.8

192 1T fIpT § 3 31T & 31T SuTd

Child development is defined as a field of study that

S 2 RS i (S A S o Pl S el

A AT AdANT ded USdresul

A.Examines change in human abilities
A S Ela S Yy g 1 Gae il (S ol

B.Sia @ TesTdd aa-Ta TSIl AT Yad HRUArd Jal
B.Seeks to explain behavior across life span
B. = UGS b cialin g (S ()l S (e e 2 sy S (S



Answer:

193

Answer:

194

C.gardt Wei=ft g SHruard Ia
C.Compares children to adults
C.ob S m)lsegiln S sadb 8 e

D G b, ARG d o) U §og08 8IUM=IT Sabidlel SRUNY 38

D.Accounts for the gradual evolution of child’s cognitive, social and the other capacities
Du:\:\:"&«_lmlsc,m)\ eﬁ/\geﬁéu}%\ )ﬁﬁ) JJ\ ‘_,’A.\.m.n cé‘)ﬁ\ é@.}

D G b T, HTHINS d IaR U 50808 8IUM=IT Sbid el SRUNY 38

D.Accounts for the gradual evolution of child’s cognitive, social and the other capacities
Duﬁé&luhgc,m)\ ?ﬁgeﬁéu%\ ‘)?\ﬁd JJ\ @\.m.u cé\JJ\ éﬁ"

AP 6, 12, 24,............. o 5d UG T,
Find the 5th term of the sequence: 6, 12, 24,.............

24 12 6% =2 W asismilh Szmod .

A.92
A.92
A.92

B.96
B.96
B.96

C.98
C.98
C.98

D.52
D.52
D.52

B.96
B.96
B.96

TS 81 Th— 31T
‘Edusat’ is a—

Sl el


www.youtube.com/c/BADSHAHimp

Answer:

195

Answer:

A&Ors IuUE

A.Educational satellite
A CiDhs oalss

B.dIHP JUUe
B.Instructional satellite
B. o Sl

C.gTATHS T
C.Instructional technology
C.o> s

DESCRIGEAIGE]
D.Instructional device
D.AT Sl

A &1 ITIE

A.Educational satellite
AN osla

5 fe<ive) my Tgg Tl fasmRia da.

developed first group test of intelligence in Hindi.

.Qhaai\uﬁu}‘)g)flsmgauudyci

AST. 59
A.Dr. Rice
A8l SIS

B.S1. TY. TH. HigRMA
B.Dr S.M. Mohsin
B.omas ol Ll I3

C.HeTa-Ieg
C.Mahalanobis
C.ousVla

D.3{&he d-¢
D.Alfred Benet
D.& & 4l

B.S1. TY. TH. HIgRMA
B.Dr S.M. Mohsin
B.omas ol Ll SIS


www.youtube.com/c/BADSHAHimp

196 SR dicdl ¥dbe e, Yhedl a¢ Iad, dedl peaid Bed, peaiad ed gad, 3f0 edd gid! Bed,
R HUANIET 3TI0 TS WD JDhll?

If ball is called racket, racket is called bat, bat is called football, football is called shuttle and shuttle is
called hockey, we can play baseball with

Qo o 5 e LS (SL S i ) i S O (U S L S ES S LIS ES S &l S gl S puid S i€ Q)

fom s dagS S
Apcard
A.Football
A.Ju
B.RIcd
B.Shuttle
B.u
c.d¢
C.Bat
C.2u
D.gl!
D.Hockey
D.Sk
Answer: A.WTF[
A.Football
A.Jum
197 P ARSI R CAE 1 e [ f— !
AHSR
B. AR
c.arst
D .|l
Answer; cars
198 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.
The army put down the rebellion.


www.youtube.com/c/BADSHAHimp

A.suppressed
B.agitated
C.excited

D.aroused

Answer: A.suppressed

199
HI: ForE! (FE) Hbd! Teamear e far favgy aw (fRagds aror geifaar sm
caTETeY) 90° fERTaeh. feeredr aR 9l st Sord! I a1 fadear Farear
Frpard fafafeea s 3m?

DIRECTIONS: When the kev figure is rotated one step clockwise OR antidlockwise (depending upon
the direction of arrow shown), which of the Answer figures given will represent the main figure in the
rotated form?

5365 o caasw Ll S Jlz S 5365 b gae craar oS Jlz S 5365 95 sepa pogae S iz § s
JJJLGJ._}YL_.JI;}_J_{,;.-'_EJ i = Ll l.ﬂuﬁ,n_\_‘h_ijl (pomin g oo Jlg = 0,8 o lal Bl S canw S
T8 WSl oS JSis 8 ilagf gua pgumi (o> 055 2w e

Answer Figures

A B C D
A. (A)
B. (B)
C.(C)
D. (D)
Answer: D. (D)
200 WTeiterter! G dTag HIvTd ?
AT RTSUId = TRIHG SAell,
B. T IS U el Tl URTH FTel.
C. a1 RagudId ATdT URTH Tal.

D .41 TS UdTd A URTHd 3T,


www.youtube.com/c/BADSHAHimp

Answer: AT FTSUDId AT TRIY e,


www.youtube.com/c/BADSHAHimp

